U.M.huwhwlywy
b <<13>> <nithu 2024p.

SLNRULEPP MLUL 2024p.
winnt <<%ynudpnt pdrjwljwl YEunpnt>>dLL
Uwypwliplibiph, wpluwwnwbpbip, dwnwjnipjniilitinh dtinpplipnud
Qunwubiph thathnfugws u“u.m 2024p
T T T
T — ZZ wnnnowuwjwhnipjwl ; f : ,uh, ) UG T uBthw(
Sudwl wnwpluyh
oun B Ubuitinuip QUi 3l ";ﬂgr‘;“ Uhwinph ghts | Pwtiwy q"“’:r"’fé;“““'
nwuwlywpquwl
1 2 3 4 5 6 7
unruvevsr
HE1NPUSL bU MUSYUUSUL3NK RGP

33661114 Dhuwnwuhi 0,005% 24 < hwin 0 6000 0,0
33661114 Sbuwnwuhi 0,005% 24; < hwtn 450 4000 1800,0
33661120 Unp$huh hhnpnpinphn 1%-10; < hwun 450 1200 540,0
33661123 Sphdbwhpnht 2%-1d; < hwwn 0 500 0,0
33661136 Mhuwgbwwd 100q/24 o< hwn 100 2000 200,0
33661135 Uhnwqgnjud 15dg 34 9< hwn 428 500 214,0
33691176 Uyunbiugjuq 501q/504; 9< hwun 0 140 0.0
33691176 Ujintiwyjwq 50uq/504; < hwwn 169000 60 10140,0
33611350 Uulnpphuwppnt 5%-5u; s hwtn 0 12000 0,0
33611350 Uulnpphuwppnt 5%-24] < hwwn 35,5 12000 426,0
33611130 Uuinpnwhuh uny$wn nidnyp 0,1%-14; < hwwn 55 3500 192,5
33621160 Udhunjwwpnuwppent 250 0 K hwin 0 990 0,0
33621160 Udhunywwpnuwppent 250 i < hwtn 1100 270 297,0
33631370 Uwnpwniphnuwih plighjwn 10dg/u;-2,50; AL hwn 309,9 2000 619,8
33661183 Shuwwpwyniphnuwih plighjwn 5ig/2,50) K hwn 0 1000 0,0
33661184 Shuwwpwniphnuih plighjwn 5q/2,50 < hwun 1008 500 504,0
33661115 Pruyhuwlught 4] a< hwwn 24,8 1200 257,8
33691138 Gyniyng 5%-2500) < hwin 2459 1200 295,1
33691138 Synilyng 5%-5000) < hwin 255,9 4800 1228,3
33691138 Synilynq 40% 54y < hwin 0 3000 0.0
33691139 Synilyng 40% 50y < hwin 37,97 1500 57,0
33661153 Hipuwdbipwqnt wluwlwphy 104 < hwwn 0 40 0,0
33661153 "Hipuwibipwqnu witwlwphl 104 < hwwn 610 38 232
33661153 Hipuwdbinwqnu 4dg/d)-10) < hwwn 23,4 10000 234,0
33671130 "Hthuhpnpwdht 1%-10) 9< hwwn 20,8 40000 832,0
33621400 "rowwdhu 40dq/u| 50 < hwwn 580 1500 870,0
33611170 “Hpnunwitiph 40dq/d) 20 9L hwwn 36,8 2500 92,0
33611170 Fpnnwiphu 40dg a< hwin 0 1200 0,0
33631310 Hhyn$buwl 75 dq 3 < hwuwn 67,8 12000 813,6
33651127 inguhghlyfuh hp 100dq < hwn 133,19 1000 1332
33621760 Euwwuwphy 10dg < hwun 4,85 15000 72,8
33691202 Ewnwidghjwwn 250ug/u) 24| < hwn 150 7000 1050,0
33621290 Ewhbppht /wnpblwihty 0,12% 16 < hwin 80 2000 160,0
33611370 3hwihu pinphn 50dq/d; 14; < hwin 26,9 5000 134,5
33661113 Fhnubuwnw) bwnphnu 1,0q < hwn 2840 480 1363,2
33691141 3pYwdhl pdolwlwu 9L hwn 0 8000 0,0
33661110 han$ynipws 2500 G< hwwn 0 200 0,0
33661110 han$ynipwt 1004 K hwin 7449,9 800 5959,9
33691176 hunndbnwght dndhly < hwin 0 480 0,0
33631283 Lhghunwph 10dq < hwin 12,5 4800 60,0
33661116 Lhnnyuwyhuh hhnpnpinphn, 2%-204; < hwun 756 500 378,0
33651138 Lun$inpuwgh |-p b/t 0.5% 1004; < hwuwn 0 600 0,0
33651138 Lun$inpuwghl |-p U/ 0.5% 1004 < hwtn 1019,9 200 204,0
33651138 Lun$jnpuwght nhin 5004q < hwn 78,8 2000 157,6
33611420 Yughnuh gyniynuwn 10%-54; < hwn 88 2000 176,0
33691134 Ywihnwh pinphn 4%-20004] K hwin 468,8 300 140,6
33691213 HhUr}umh lqubwppt{uqhu pmlthphumhp / Lwphub < hwwn 0 6000 0,0
33651212 h iu puhb 0,50 < hwin 550 600 330,0
33621100 <hu4tu|1hh 50004y/d| 541 < hwwn 938 16000 15008,0
33691814 <hnpopuhtph| oujw 6%-5004 <L hwtn 3500 210 735,0
33621610 UwUpung 10%-4000] < huwin 850 350 297,5
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33691218 i < hwun 480 1500 720,0
wuwwpunwwnh htidhhhnpwwn 104;
33691145 Uwqubighnud uny$uin 25% 54 <K hwwn 28,45 8000 27,6
33661127 Ubinwdhgn| bwwnphnid 50% -24; < hwin 37,6 40000 1504,0
33611160 Ubnnynuypwidhn 5q/d; 24; < hwun 41,1 12000 493,2
33691112 Ubinpnuhnwqny 1004y K hwun 199.8 10000 1998,0
33651139 Unpuh$jopuwight witwlwpehy 0,5% 54 K hwun 1199,9 40 48,0
33651139 Unpuh$jopuwghti 2504 QL hwin 0 1800 0,0
33691154 3nhbipun| 1004 9L hwin 8650 1000 8650,0
33691154 3nhbipun 504 K hwwn 4900 2000 9800,0
33691157 3nnhpuwln| 1004 <L hwun 0 180 0,0
33691136 Luwwnphnudh pinphn 0,9% 2504; q< hwwn 0 36000 0.0
33691136 Luwwnphnuh pnphn, 0,9% 2504 < huwitn 01,6 18000 3988,8
33691136 Lwunphnuwh pinphn 0,9% 1004 < hwin 0 19200 0,0
33691136 Luwwphnuh pinphn 0,9% 1004 ac hwin 215.6 9600 2069,8
33691136 Luwnphnudh pinppn 0,9% 5004 9L hwn 0 45000 0,0
33691136 Lwinphnudh pinphn 0,9% 5004 < hwwn 227 4 22500 5116,5
33691136 Lwuwphnuwh pinphn 0,9% 10004} < hwwn 0 24000 0,0
33691136 Lwuwnphnuh pinphn 0,9% 10004 < hwwn 268,8 12000 3225,6
33691136 Lwuwnppnudh pinphn 0,9% 30004 < hwwn 0 150 0,0
33691136 Lwwnphnuh pinphry 0,9% 30004; < hwun 1500 45 67,5
33691129 Luwnphnuh pinphn, hwlhsn(;gglmnnhn-uwlghmdh pinphn ac¢ il 0 24000 0.0
sseonzg | wnnhmdhpinh, ““‘“‘5"(;‘(’)&”‘""""'“'“‘9""“"‘ POPPY 1 Ge | huwen 27.4 12000 27288
33691129 [Lwwnphnuwh pinphn, Ywihnwh pinphn,jwighnuwh pinphn 2504 9< hwun 2273 1200 272,8
33691135 Lwwnphnuwih phiwppnuwn 8,4% 204 < hwwn 0 800 0,0
33691136 Lwwnphnudh phljwppnuwn 8,4% 200 <L hwwn 1008 200 201,6
33691133 Ubpwpluwl gnip 30004 q< hwtn 0 1400 0,0
33691133 Lbipwplydwl gnip 30004 Q< hwn 1500 450 675,0
33621330 Uhlybpwdhn, 25%- 24; < hwin 0 1500 0,0
33621330 Uhlipwihn 25% 20 a< huwn 178 280 49.8
33611390 Mhphnnpuhl h/p 5%- 14| < hwwn 0 15000 0,0
33631350 Mhwbynipnupnwdh ppndhn 4dq/2d L hwwn 0 3000 0,0
33631350 Mhubynipnuhnudh ppndhn 4dg/24; K hwwn 1037,53 1500 1556,3
33631230 Mnihrynt jnn 10%-10004) < hwin 2900 300 870,0
33661170 Mpnluyht /Lnynlwyht/ 0,5% 2500 9L hwn 504 120 60,5
33661181 Ulindynipui 2500 < hwin 0 80 0,0
33661181 Ulinynipwt 2500 < hwwn 37780 40 1511,2
33631360 Unipuwdbipnupnud 2% 54 9L hwun 189,9 2400 455,8
33621730 Ubpwwuwidhy 0,25% 20 K huwtn 100 300 30,0
33621240 Shwulnpwyiwihu 500dyg Td; < hwun 0 3000 0,0
33621730 Shwulnpwjwidhu 500udlg Tug < hwun 26,9 1000 26,9
33691236 Lnpnwhpwdhuh hhnpnpinphn 20dg 14 < hwn 107,5 600 64,5
33611100 Oubwpuwgn| 20dg o< hwin 93 30000 279,0
33641100 Opuhunnghl |-p SUU/ T4 < hwun 177 4800 849,6
33691191 Snudnihujhnubip/kubghwy/5d; L hwtn 630 400 252,0
33691823 bnpdwinbhpn/|ndnyp < Yq 350 1200 420,0
33651245 Shughuwpht 1000dg < huwtn 0 150 0,0
33651245 Shughinwpht 10004g < hwn 9999,9 50 500,0
33651227 Hulywppwght 200dg < hwin 0 100 0,0
33651230 “topunnniphght 2dg/d) 254; < hwn 0 200 0,0
33651230 “Yopunnniphght 2dg/d) 250 < hwn 7950 30 238,5
33651231 tunnwynghn 100dg/54; < hwun 0 200 0,0
33651231 Euiinuynghn 100dg/50) < hwn 3699,9 120 444,0
33651243 Muwlypinwpubi 100dg/16,7 U K< hwwn 0 400 0,0
33651243 Muwlyhinwpub 1000g/16,7 4y < hwwn 9000 200 1800,0
33691280 Bhuuywwnht 0,5 dg/d| 1004 < hwin 0 200 0,0
33691280 Shuuywwinht 0,5 dg/uy 1004 a< hwin 7999.8 120 960,0
33651248 Opuwhuwwnhu 100dg < hwun 0 150 0,0
33651248 Opuwhuywwnhl 100dg < hwun 7986,6 50 399,33
33651241 Sunnpnipwighy 5004dq G< hwun 0 150 0
33651241 Sunnpnipwighy 500dq < hwin 3799,8 10 417,978
33661131 Sbunpwpphunw| nhwn 100dq < hwun 0 102 0
33661131 Stunpwpphunw) nhwn 100dg K< hwun 20 100 2
33691176 Ughuinpnihght opwpuwly 200dq/54) 37,50 q< hwin 0 30 0
33691176 Ughwinpniihght opwpwly 200dq/54) 37,54 < hwun 2400 16 38,4




33651163 Udhywghu 500dq/24; 9< hwwn 0 100 0
33691176 Udhunybl hudwwn 1004 < hwun 4080 40 163,2
Udopu u/
33651111 i i o hgh'{; B0 a< huwn 0 30 0
33651110 Uduyhghihts 0,5q KK hwwn 215 1000 215
33651110 Udwhghihu 1,0 < hwwn 255 1000 255
33651111 Udopupgh|ht/pjwynywlwppnt upy.1000dq +200dq < hwun 0 200 0
33651111 Udopuhgh|pu/pjuynyuwiwppent upy.10004dq+2004dg q< hwwn 1200 100 120
33611350 Uulynpphuwppnt, nnunngnhny L1 hwin 9 1000 9
33691728 Gbignt fubid, pubpn$npd 40q q< hwin 218 40 8.72
33631210 Phwnwdbpwqnu punip 1dg/q 15 < hwn 0 20 0
33631210 Phinwdbpwqnu punip 1dg/q 15 < hwn 900 10 9
bupwwpnwhnuwh ppndhn, $bunntipng -p 2us. 261d4g/d;+
33691176 i vy 2OQL“ o 2Ug. 2614/ ac huin 0 100 0
e P e e A IR T 2700 50 135
33611472 Yhgbipng dndhlubp ninhnwnhpuht 1g < hwn 12,9 2000 225,8
33611472 Shglipn| Upypnhnquw Sug < hwn 104 1500 156
33611472 Shgtipny dhlypnhnquuw 104 < hwin 119 250 29,75
33691138 Yynilng 5%-5000; < hwin 0 15000 0
33691138 Fynilyng 5%-5000) < hwin 247.8 6000 1486,8
33691208 Syniynqui (nlipunpng) 100dg/dj 1004 K huwwn 0 800 0
33691208 Syniynqui (nlipunpng) 100dg/u( 1004 < hwun 480 750 360
33691208 Syniynqu (ntipuinpng) 100ug/uj 5004 < hwtn 0 300 0
33691208 Syniynqui (ntipuinpng) 100dg/d; 5004 K hwun 580 120 69,6
3367124 |SMPnwihghl, “hn““‘dhpqugl;'llhwuwphwbn SR T I 1197.9 20 23,958
33631310 Hhlyn$buwl bwinphnwdh dndhly 12,5d0q < hwun 12,9 500 56,45
33631310 Hiyn$buwl uwwnphnuh dndhly 250q 9L hwun 12,9 500 56,45
33631310 Hyn$buwy Ywinphnd 10dg/q 50g nnunnn Q<L hwwn 550 15 8,25
33691202 Ewnwdghywn 250dg < hwwn 38 800 30,4
33691141 BpYwdhu pdolwlwl < hwwn 0 7500 0
33691141 Bpywdh pdolwlwu G< hwwn 3300 1500 4950
33631290 bpnuypndli opwpwly 100dg/5d; 1004 G< hwwn 0 250 0
33631290 bpnuypn$bit ogwipwly 100dg/5d  1004; < hwn 700 100 70
33611310 huunyht yupbwinle wgnbignipjwdp-100; < hwun 0 30 0
33611420 Lhn$hjwgqws Yhunwuh juwplwppywhu dwuptubip 9L hwun 0 2000 0
33621100 Ywighnuwih gyniynuwn 500dg 9L hwun 0 1000 0
33691176 Yitdwuwnh upy.1dg/2d) < hwwn 0 600 0
33141166 Lbuywphl punip 25 < hwn 0 15 0
33621640 <hnpnynpinhgnu puniyy 10dg/q 15q < hwwn 0 15 0
L(npwddbiuhlny, dbphinipwghy
33631200 punlg 750q/q+401q/q, 40 < huwn 0 300 0
33691112 Ubinpnupnwgny, pinphtipuhnht punip 1% 20,0 < hwn 0 20 0
33691176 Uopuh$jopuwght |- 1,60q/u},250 U < hwwn 0 450 0
33691176 Opupdtivnwgnihuh hhnpnpinphn 0,25dg/d) 104 < hwuwn 0 40 0
33691136 Lwwnppnuwh pinphn |-p_10%) S04} K hwun 530 720 381,6
33651149 Lh hu_ 500000 U4 < hwwn 15,7 400 6,28
33661122 Muwpwgbnwdng opwpwl 120dg/5d] 1004 < hwn 399 20 7.98
33691176 Lungtiunhphght Ywphiubip Ubippht punniudwt Sug/d, 204 < hwwn 2650 5 13,25
33651145 Mnihdhpuht B , utindhght , nbipuwdbipwagnt pph uwpby 154; Q< hwwn 0 20 0
33631230 Mnyhnnt jnn_punip 10 % 20q < hwun 260 30 7.8
33671113 Uwipnunwing gnnughp 100dlg/nnqu 200 < hwtn 0 300 0
33671113 Uwipnunwing gnnughp 100dyg/nnqu 201 < hwuwn 1460 165 240,9
33691500 Spwubipuwdwppnt nhin 250dq 9< hwwn 127 400 50,8
Stnipopuhd ey uny

33651141 ndnuph 7504a. 104 Q< hwwn 0 500 0
33661122 Muwpwgbnwing nhun 5000g o< huwin 6.5 5000 325
33661122 Muwpwgbinwdng dndhyubp 150dq 9< hwin 50,9 130 6,617
33661122 Nuwpwgbunwdng dndhyubp 80dq < hwn 42,4 80 3,392
33631150 8huljh opuhn punip 100dq 25q L hwn 227,85 8 1,8228
33651134 Shupn$inpuwghti nhin 500dq < hwun 28,9 3000 86,7
33611120 Swinunhnhb (hndhjwgywd upy (-ph 20dg, 5dj (ndhs < huwtn 0 75 0
33611140 Ounwlubiinpnl 2dg/d| 44| < hwwn 235 1500 352,5
33691192 Shuwgnb, panlwiht whwbewlwph| 5¢ < hwn 504 8 4,032
33651150 Syniynuwgn 50dgq < hwun 0 120 0
33651150 Syniynuwgn( 50dq QL hwun 116,84 70 8,1788




33651134 Shupn$lopuwght, ntipuwdbnwgn n/ywlunyp 10 0y < hwn 0 4 0
33651134 Shypn$lopuwgh, ntipuwdtitnugnu n/Ywiunype 10 U L hwwn 2016 2 4,032
33671129 Uhwpndnipwy, inbinpulwiht, $twgnt wywugh Ywpehy Su; q< hwwn 0 9 0
33671129 Uhwnpnnipwy, nbupwlwht, buwgn wlwush Yupehi Suy < hwwn 315 8 2,52
33691226 Spwiwnn| 100dg 24 < hwun 200 500 100
33691226 Spwiwnny/nbipullinnuypndbi 7509/250q K hwtn 250 150 375
33661123 Sphdtiwhpnhu 2%-14 K hwwn 780 400 312
33621420 Uwnnpyt hu 40dq < hwwn 80 6000 480
33671125 Udppnpuny ogwpuwl 100 4y < hwwn 800 60 48
33671114 Udhun$hiht 2,4%-5 u| a< hwwn 48 10000 480
33621390 Udhnnwpnt 150dq 3d; < hwin 650 1200 780
33651163 Udhlywght 500uq/2d; Q< hwn 2440 120 292,8
33691176 Uwhyuwpwt nhin 5dq < hwin 507 120 60,84
33621740 Udjnnhwht 10dg a< hwwn 10 6000 60
33651110 Uduhghipu+unypwlunwd 1000dg/500dg < hwn 3000 80 240
33661121 Ugtiwnhjuwihghjwpent 500dq Q< hwin 6 3000 18
33621761 Ugbiwinhjuwihghjwpepent, dwqubtighnuwih hhnpopuhn < hwun 25 4500 12,5
33691153 prhnuih um@wm thnoh 100q < hwn 200 240 48
33691189 hhuwnhu 24iq <L hwwn 120 2400 288
33691811 phuwunth undhly 10dg < hwwn 42,6 3000 127,8
33621720 Phunupnin Sdg 4L hwn 30 12000 360
33621360 SHhgtiph| nhupwnpwuy/ Uhnpngihgtinht 1,50 9L hwun 750 1600 1200
33661153 "hipuwibpwqnu whuwlwpehy 104 Q< hwun 750 40 30
33621250 "Hipuinpwu 70 - 5000 Q< hwuwn 2400 60 144
33621250 “apuwnpwt 40 - 5004 < hwwn 2400 180 432
33631250 Epuiuny pozluliuwl 96% < \hup 1200 500 600
33621120 Euopuwwwiphl bwwnphnu 4000UU 0,4d( a< hwun 2400 600 1440
33611180 Luwljnngng 200 d q< hwun 2300 40 92
33661116 Lhnnywyhth hhnpnpinphr 2%-24; < hwun 38 4000 152
33691192 Lhnnluwiht_hpnpnpinphn, Ewhub$phu 204 < hwwn 900 150 135
33691203 Lnqupuwl nhu 100dg < hwwn 52,5 560 294
33691213 Lhnhjwgyws Ytunwuh Ywplwppywhu dwupkutip < hwwn 131 2000 262
33691213 Ybunwuh Ywplwppywht pwynbphwubp / Lwphub 9< hwun 45 5000 225
33691176 Ywpphiinnghu 100dyq/dg 14} q< hwwn 22680 10 226,8
33621690 Gwpybinhyn 250q < hwun 50 2800 140
33631300 Ybnnwpnpbu 50ug/d| 20 < hwn 180 1000 180
33691176 Y bdwuwnhu 14 L hwun 220 400 88
33621140 Yinuhnngpbiy 75dq < hwn 250 12000 3000
(wuwbbhjhywbmhubtthu/h whunwhuwthyg
33621643 nabbn/Yunwdhls UE 50% < \hwp 3400 200 680
33621643 <wl|umh|uh§/wumhuhu4mhlq/h wluwnwhwuhg dhengubip/ ac hiin 7200 40 288
Cwqwhé]hg;llﬁﬁlr?ubu{ml}‘\u/u j[ul.:whwuh;
Ab2lB dhonqubip/Snunwpwintihhn 20% funwiniye 5004 i i 9900 2 oaE
Cwlwubluhy/wuwnhubiupnhly/u whunwhwuhs dhongubip/ N,N-
33621643 nhntigh-N-dbphi-wnih(opuhtehy) winuhnwh wnpwhnuwn, < {hwp 13500 60 810
nhnbighy nhubphy wdnuhnuwh pinphn, $tipdblntbiph hwdwihp
Zwlwubfuhy/wbnpubwynhl/l wiunwhwihy dhongubip/
33621643 wnihhtipuwdtiphibugnuwuhnhup hhnpnpinphry, N,N-phu(3- < {hwp 8000 80 640
wdhunwnnwhi) nnntighiwdh
33621641 by uieRinoh icuuinuivigy 9< | hwn 4500 60 270
Uhonqubtip/ Mitwinnipwgywsd tpwun 1)
33621641 Cwlwubfuhg/wunhubiuunhly/l whunwhwuhg dhengubip/ £inph ac hutn 15 12000 180
intdunn hwipbip
33621490 Ubiphinnuyw 250dq < hwun 45 1500 67,5
Utinnwdhgny, bwinphnidwlwt dnunhhnpuwin,whundbunuh
33661125 hhnpnnnhn, SEpinbiked pAndn 20 < huin 270 200 54
33621190 Ubwnhnup wwphnud phunybhun 1%-10 K hwwn 120 1200 144
33621700 Ubkinnwpnin; 50uq L hwwn 18 3000 54
33651143 Ubipnwbutid 1000dq < hwn 4500 100 450
33641200 Uhgnupnuwnng nhin 200dyg 9L hwwn 180 1200 216
33641210 Uh$btiwyphuwnt nhin 200dq < hwwn 2756 60 165,36
33651139 Uopuh$jopuwght 0,16% -2504| < hwwn 1500 180 270
33691170 Snupndhry 1004} < hwwn 16500 300 4950
33691154 3nhbipun 504 < hwwn 5500 2800 15400
33621750 Lh$tinhwhu 10dg < hwn 31 5000 155




33691223 ynuwwphup uighndwluwl wn 0,34 <L hwwn 2200 600 1320
33691223 Lwnpnuywphth Guighnuwljut wn 0,64] a< huin 3500 2400 8400
33691144 Lwwnphnwh phnuny$uin 30%- 10d; K hwun 55 4000 220
33691136 Lwuwnphnudh pinphn 0,9% 30004 K hwn 1500 150 225
33661147 Lbinuinhquhu 0,05%- 1d; K hwun 60 1000 60
33611150 Muwllpbwwnhl 9L hwin 32 5000 160,0
33661122 Muwpuwgbinwdng 1004 < hwun 2500 160 400,0
33611470 Mwuwnnupuwgn nhn 20dg < hwun 60 1400 84,0
33611471 Muwbwnnupwqn 40dg 9L hwwn 1870 50 93,5
33621480 Mtiphunnwphy nhwn 10dg 9L hwun 96 1500 144,0
33691186 Mhpwgtinwdh 20%-50; < hwin 55 6000 330,0
33691176 Mpnghiuntipnl 200dq < hwwn 360 560 201,6
33642210 Mpbinuhgn|nu 5dq 9< hwun 8 5000 40,0
33661112 Mpnwn$ny upy. 10dg/d) 200; < hwun 700 3200 2240,0
33621777 Mthywpopuwpuwl 15dg < hwwn 750 1260 945,0
33621777 Mhywpopuwpwl 20dg < hwwn 825 1120 924,0
33691200 Ubnghnubp A,B nhin qc huwtn 2 8000 176,0
33621620 Uwhpnunjwlinnt 25dq < hwun 50 10000 500,0
33661181 Ulinpynipuwis 2500 L hwun 55000 20 1100,0
33661154 Stunpwljwht 1% witwlywphy 106 K hwun 2900 60 174,0
33631380 Snywtiphgnu h/p 150dq <L hwun 80 1200 96,0
33691500 Spwubipuwdwpent 204 9L hwwn 2350 200 470,0
33691500 Spwubipuwiwppnt 500dg 9L hwun 208 600 124,8
33691176 Shywgptinp nhwn 90dq < hwwn 830 56 46,5
33651116 Bb$uqnihli 1q G huwn 250 14000 3500,0
33651123 Stpnuinwpupd 1q YL hwwn 400 8000 3200,0
33651141 Sb$nipnpuhd 750dg < hwun 1200 1000 1200,0
33651118 8binphwpunu 1gq < hwun 150 24000 3600,0
33651134 Shujpniopuwghti whuwlwphy 0,3% 104 <L hwtn 700 40 28,0
33631241 Lnphbipuhnhuh uwhpuwht |-p < {hwp 1500 250 375,0
33631200 Lnpwihbiupyng dtiphinipwghy puntly 40q Q< hwun 300 240 72,0
33651192 03h wnihywibun hwlwpnyl < hwun 120000 1 120,0
33611120 Swidninhnhu nhwn 20dq BiS hwwn 28 8000 224,0
33611120 Suwidnnhinhl 200q < hwin 980 350 343,0
33651150 Syniynuwgny 150dq 4L hwn 150 1000 150,0
33691176 Dnipwghihup puniy 25q < hwun 250 200 50,0
33691176 Snipwghiuh thngh 0.2 < hwwn 12 2000 24,0
33621230 bnjwppnt Sdg < hwn 4 4800 19,2
33661123 Sphdbiwhpnht 2%-14; < hwin 780 150 17,0
33651163 Udhyughu 500dq/2d| K hwun 2440 120 292,8
33651110 Udujhghiht+unypwljnuwd 1000dg/500dq 9L hwin 3000 80 240,0
33651112 Udopuhghipt/pjwynywtiwppnt i 2500g/50; 1004y 9L hwun 1060 30 31,8
33691176 luhpuwpwt nhwin Sdg q< hwun 507 120 60.8
33621390 Udhnnwpnu 200dq < hwwn 80 3000 240,0
33691153 Pwphnuwh unybwin thngh 100q. < hwwn 300 240 72,0
33671126 Ppndhtipuhl 8dgq < hwn 3 3000 9,0
33611472 Yhglipny dndhlutip 2,11 K hwn 138 800 110,4
33621360 Shgtiphy inhubwpwin/ Uhunpngihglinh 0,5dq L hwn 10 400 4,0
33691213 Lhn$hjwgywd Yhunwuh jwplwppyuw)ht dwupktubp K hwun 131 1600 209,6
33611200 Lnubpwihn 20g q< hwin 12 600 7.2
33661116 Lhnnlwihuh h/p gnnuighp 5%-154; K hwwn 1322 50 66,1
33661116 Lhnnlujhup h/p punip 5%-15q < hwun 835 20 16,7
33651199 L iRl b wwuny Ny < hwn 7000 50 350,0
33671135 Ywyghnuwh pinppn S L hwwn 86 400 34,4
33621643 Cwlwubuhg/wunhubiuwnhly/u whunwhwuhy dhengutip/ ac ipinp 7200 30 216,0
$ipdbunuwnhy dwand dheng
Lwlwubjuhy/wuinhubiynhl/u whunwhwuhg dhengutin/ N,N-
33621643 nhntigh-N-dtiph-wnih(opuhtphy) winuhnuwh wnpuhnuwwn, Q< thvp 13500 80 1080,0
nhntigh| nhubiph| wdnuhnuwh pinphn, Ptipdbunttinh hwdwihp

33141166 Lbwwphu punip 25 < hwn 620 20 12,4
33621640 Zhrypnlynpuihgnu punily 10dg/q 15 9 hwn 265 30 8,0
33651191 Lwlwpnunyhuwhu ghéinty inhy U K hwun 2700 3 8,1
33651191 Zwlwpnunnyhtught shéniy nhuy £ < hwin 4800 3 14,4
33651191 Lwlwpnuinyhuwht ohénty npyy & < hwwn 5400 3 16,2
33621270 Uktpnih inidnyp dbph) hanw|pwepynid 9L hwwn 18 200 3,6
33691112 Ubinpnupnwqny, pinphtipupnhl nninnn 20q K hwin 655 20 13,1
33631260 3nnh uw. ;ndnyp 304 < hwun 430 100 43,0




33651128 Lhunpndnipwuwnnih 50ug QL hwn 5 1000 5,0
33691199 Uhihdwphl 225dq L hwn 24 800 19,2
33691176 Shywgpbinp nhwn 90dg < hwwn 830 56 46,5
33651321 8t$ownwpupi/unypwljinwd 10000q/5004q < hwtn 3000 60 180,0
33651141 8tinipnpuhd 750uq < hwin 1320 500 660,0
33631491 8linhphght 10dg 9L hwin 71 600 42,6
33691176 Shiynwbuwnnwn whuwlywphy 1%-50] < hwwn 3180 25 79,5
33671116 Lupndbnwgniht gnqwohpe peh 100 hwwn 1500 30 45,0
33691176 Opuhdbitnwqgnihtup h/p pph Ywphy 0,5dg/u| 104 QL hwwn 680 40 27.2
33651192 0ah wnihywbun hwlwpnyt 9< hwun 120000 1 120,0
33621590 Snipnutidhn 40dgq q< hwun 4 2000 8,0
33621590 Bripnubhn 1% 20 < huwin 29,4 32000 940,8
33691176 Slwgnu, (hrnluhl 154 9< hwn 1100 30 33,0
33691200 Ubunghnutip uu hwun 20 2000 40,0
33671113 Uwipnunwing gnqughp uu hwuwn 2250 6 13,5
24111190 Udluwppnt quq Uu hwwn 5500 50 275,0
33651143 Ubpnugbltd 10004q uu hwn 4900 10 49,0
33651126 Shunwdhght 24; uu hwun 67 600 40,2
33671113 Uwpnunwdng gnnughp uu hwwn 804 60 48,2
33691800 Plwghqnuiwp 100dg uu hwun 100000 1 100,0
33661112 Mpnun$ny 10dg/u) 204 uu hwn 465 215 100,0
33611280 Yhyjwghn MR nhin 60dg uu hwin 96,2 300 28,9
33691176 hunndbunwghu dndhly uu hwn 97 360 34,9
33621600 hunwwwihn nhin 1.50q Ul hwin 18,833 1800 33,9
33621100 Ywighnuwih gyniynuwwn 500dg uu hwin 22 500 1,0
33141165 Uypnudhl 20% 1004} uu hwun 4 25000 100,0
33621590 Sbnipnutidhn 1% 2d; uu hwun 294 3400 100,0
Cunuwdbup 183749,2
RJTUULUL UUrLU4NPNRULEN B4 MUrUSULER
33111100 3wyl nbuingbit uwpp < hwin 9300000 1 9300,0
42931111 Lnnuwgnn guinph$niq < hwn 0 1 0,0
33141136 Ufuinnpnohy Gwpbitnp < hwtn 0 200 0,0
33141136 Uhunnpnphy Yupbiinp A< hwun 6200 60 372,0
33141136 Upuwnnpnphy Ywpbiinp K hwun 8100 900 7290,0
33141136 Upuwnnpnohy Ywpbupubiph hwywpuwdnt < hwun 0 700 0,0
33141136 Uuinnpnghs Yupbiinpubiph hwywpwdnt < hwtn 12400 400 4960,0
33141184 Ufuwnnpnghs ninnnpnhs hhpndhy -0,018 § K hwn 16000 40 640,0
33141136 Uuwppwghnt Ywpbinp <L hwwn 0 10 0,0
33141136 Uuwhpwghnt Ywptinp A< hwin 105000 3 315,0
33141137 Puwnuwiht Ywpbinbp pupdp Godwu 1 L hwwn 0 200 0,0
33141137 Pwinuwjiht Ywpbnbp pwpdp Gdwu 1 K hwn 32800 100 3280,0
33141137 Pwinwght Ywpbnbp pwpdp 0wl 2 <L hwwn 31000 300 9300,0
33141137 Puwnuwht Ywpbwnp 1 K hwn 0 220 0,0
33141137 Puwnbwht yuptup 1 < hwn 32800 100 3280,0
33141137 Pwinbwihu wpkinp 2 < hwuwn 0 300 0,0
33141137 Puwnuuwjht Ywpbinp 2 < hwn 31000 150 4650,0
33141137 Puwjnbuwht upbnp 3 ac hwin 0 50 0,0
33141137 Puwynuwjhu Ywpknp OTW K hwun 0 5 0,0
33141179 Pdolwlwl hwiwpwdniubp wughngpwhhwih hwdwp < hwuwn 19800 1200 23760,0
33141136 Sy Ywpbnp | q< huwin 17800 600 10680,0
33141136 Sw)n Ywpbinp 2 K hwwn 0 70 0,0
33141211 Shd 60ud < hwuwn 0 150 0,0
3314121 “Hwuwnwlh ugnn Yuy < hwn 0 50 0,0
33111310 Hinwwwwn unbuwn 1 K hwwn 89000 260 23140,0
33111310 Hinwwwn unkiun 2 < hwun 0 260 0,0
33111310 Hinwwwwn unbwn 2 9< hwn 95000 130 12350,0
33111310 Hinwwwin unbun 3 QL hwwn 0 60 0,0
33111310 Hinwwwn unkun 3 9< hwwn 79000 30 2370,0
33111310 Hinwuywin unbn 4 9< hwwn 0 30 0,0
33141211 Eypnn nhpdwywp dwdwuwlwynp uwpptiph Q< hwin 0 2 0,0
33141211 PrybUpywunnp 20/30wnwstuhl thwpbp Ynughinnny o< hwin 0 400 0,0
33141211 Prbiu$ywwnnp 20/30wnwpliwh thwpbip Ynuhinunny < hwin 10000 280 2800,0
33141211 hnbudywinnp thwpkp 20 BU) < hwuwn 0 50 0,0
33141211 brbu$ywinnp thwpbp 20 Bu < hwin 6000 33 198,0
33141211 hnbu$ywinnp thwpbip Ynwhininng L hwn 0 100 0,0
33141211 bnbu$ywnnp thwpbp Ynwhinunny L hwn 10000 50 500,0
33141136 huwnpwnyniubip Swéwusw)hu K hwwn 10900 1500 16350,0




33141136 huwnpwryniutip $bdnpw 10ud LS hwwn 0 250 0,0
33141136 huwnpwnynwbip $tidnpwy 10ud < hwwn 10900 150 1635,0
33141184 Ynpnuwp ninnnpnhs 0,6-0.7q < hwwn 0 80 0,0
33141184 Ynpnuwp nipnnpnps 0,6-0,7q < hwn 35000 40 1400,0
33141184 Ynpnuwp Juybip 0,4-0,5q K hwn 0 120 0,0
33141184 Ynpnuwp Juybip CTO < hwwn 0 10 0,0
33141184 Ynpnuwp Yuwytip CTO 1 < hwwn 0 ] 0,0
33141184 Ynpnuwp Yu)tip CTO 2 < hwwn 0 5 0,0
33141184 Ynpnuwp Juybip hhnpnhy AL hwwn 33000 500 16500,0
33141136 Uhypnlwpbtitnp Ynpnuwp wunph < hwun 0 5 0,0
33141136 Ninnprhs Yuptivp < hwuwn 0 50 0,0
33141136 Ninnnpnhs Yupbivp G hwwn 21000 20 420,0
33181170 Upjwl hnupuwjht ghd < huwwn 0 11500 0,0
33181170 Upjwl hnupwih ghd < hwwn 1490 6000 8940,0
33181150 Chduw)pl fuinwyniph pwppephe AL hwwn 0 11500 0,0
33181150 <hduwiht funwtyniph pwppphe s hwtn 1350 5500 7425,0
33181120 “hwihquwnnp < hwwn 0 1200 0,0
33181120 “Hhwhqunnp < hwuwn 3600 400 1440,0
33181120 Huwihquwnnp Q<L hwuwn 0 4000 0,0
33181120 "Hhuwihqunnp 9L hwwn 2750 1000 2750,0
33181120 “hwihquinnp QL hwwn 0 1440 0,0
33181120 “hwihquwnnp Q< hwwn 3000 400 1200,0
33181120 “Hhwhquinnp < hwin 0 4000 0,0
33181120 hwihquinnp < hwun 3400 1000 3400,0
33181160 3pYwihu futnwjniy < hwn 0 2500 0,0
33181160 3wt funwlyny K hwtn 3250 1500 4875,0
33181160 Yhwpnuwppyh utnwnig A< hwun 0 160 0,0
33181160 Yhuinpnuwppdp futnwyni < huwn 10000 60 600,0
33141149 Shunnywh wubnubp quiplbpwljwihu QL hwn 0 9000 0,0
33141149 Shuwnnywiht wubinubip quipybipwluhu < hwn 195 5000 975.0
33141149 Sbhunnyuwhu wubinubp bpwlwihu < hwn 0 9000 0,0
33141149 Dhunnywiht wubinubp Gpwlwyhu < hwin 195 5000 975,0
33141149 Shunnywjht wubinubp quipybpwluwhu <L hwuwn 196 2500 490,0
33141149 Shuwnnywih wubnubp bpwlwihu < hwn 196 2500 490,0
33181120 S$hynp htidnnhwihgh uwpph < hwwn 75000 15 1125,0
33141136 Ywpbnbp htdnnhwihgh < hwun 8200 50 410,0
33141192 Ubpwlynulph wnweowytipht wpgbijwihwlyynn hwppwly < hwwn 0 10 0,0
33141192 Uupwlynulyph wnweowytipht wpgbjwihwyynn hwppwly K hwn 102000 5 510,0
33141192 Uupwyh Ywppuwnp hwppwl < hwwn 0 6 0,0
33141192 Uupwlh yuppwynp hwppwl < hwun 102000 3 306,0
33141192 Puwgniynulph di yw wpqbjwwlynn hwppwy < hwun 0 25 0,0
33141192 Pwqgniynulyph dninwlw wpqbjwhwlynn hwppwy < hwwn 132000 13 1716,0
33141192 Pwgniynulyph |nphug dbju < hwun 0 10 0,0
33141192 Updniuybniup wpgbjwihwlynn hwppwly < hwun 0 4 0,0
33141192 Updniulybiniuh wpgbjwihwlynn hwppwl < hwun 102000 2 204,0
33141192 Bwbwugnulnph htinwlw thnihnfuwlwl wulywdp ac K 0 15 0.0
wngbijwthwlynn hwppwy
33141192 e L 9<¢ | huwn 102000 8 816,0
wngbjwihwiynn hwppwy
33141192 Ugnpnulph MU hwppwl ubipwnjw| YEunpnuwlwu ac Wi 0 10 0.0
Ugnpnulph U h mn‘l-u‘:lt‘ YEunpnuwlut

33141192 winnunwlp < hwwn 162000 5 810,0
33141192 Ugnnulph U hwppwih Yndwpbuhnt wnnwnwly < hwwn 0 10 0,0
33141192 Ugnnulypp WU hwppwlh Yndypbuhnt wunnunwy < hwn 3000 5 15,0
33141192 Ugnpnulyph hbnwlw npuwiht wpgbwihwyynn hwppwy < hwun 0 6 0,0
33141192 Ugnpnulyph hbnwlw npuwht wpgbjwihwlynn hwppwy < hwun 162000 3 486,0
33141192 Utid ninph dnunwljw npuwihu wpgbjwthwlynn hwppwly < hwwn 0 10 0,0
33141192 Utd ninph dnunwlw npuwiht wpgbjwthwlynn hwppuwly L hwwn 132000 5 660,0
33141192 Utd ninph dnuinwlw Ubpuwiht wpgbjwhwlynn hwppwly < hwun 0 10 0,0
33141192 Ubd ninph dnuinwlw ubipuwih wpgbjwthwlyynn hwppwly 9< hwun 132000 S 660,0
33141192 Utd ninph htinwlw dhowjhtu wpgtijwihwlynn hwppwy < hwun 0 10 0,0
33141192 Ut ninph htinwlw dhowht wpgljwihwlynn hwppwl < hwun 132000 5 660,0
33141192 Lppninph htinwlw Ynnduwiht wpgbjwhwlynn hwppwy L hwtn 0 20 0.0
33141192 Lppnpnph hinwlw Ynnduwiht wpgbjwihwyynn hwppuwy < hwun 102000 10 1020,0
33141192 ®npp wpqbjwithwlynn Yndwpbuhnu hwppwl 3,5 du ac hwn 0 10 0.0

wunnunwlubiph hwdwp




®npp wpgbiwihwlynn Yndwpbupnt hwppwl 3,5 dd

33141192 K hwwn 102000 5 510,0
wnnunwlubiph hwdwp
33141192 Ubin wpgbjwthwlynn Yndwpbuhnt hwppwl 4,500 ac i 0 10 0.0
wunnunwlubinh hwdwp
33141192 Claywinqipuspulylnn. rbsptiuhels hijpad’ 450 ¢ | hun 132000 5 660,0
wnnunwlubiph hwdwp
33141192 Ugnpnulph Ywpé wpnpuhdwy dbtu Yuithwphsny < hwwn 0 60 0,0
33141192 Ugnpnulph Yupé wpnpuhduw dbju wihwphsny K hwuwn 162000 30 4860,0
33141192 Ugnpnulyph Bpywp wpnpupdwy dbju uihwphsny < hwwn 0 30 0,0
33141192 Ugnpnulph biplwp wpnpupdw) dbfu jwihwphsny K hwun 162000 15 2430,0
33141192 Ugnnulph wpnpuhdwy dkfup 6,400 wnnunwly QL hwwn 0 90 0.0
33141192 Ugnnulyph wpnpuhdw dbfup 6,400 wununwl < hwun 3000 45 135,0
33141192 Uqgnnulyph wpnpuhdwy dkfuh 8,0dd uwnnunwly < hwin 0 90 0,0
33141192 Ugnnulyph wpnpuhduw dhfup 8,000 wunnunwl K hwun 3000 45 1350
33141192 Ukd ninph |nphugq dbifu K hwwn 0 15 0,0
33141192 Ut ninph |nphug. utifu < hwun 162000 8 1296,0
33141192 3,9 dd jnphug wwnnunwly dbfuh hwdwp < hwn 0 20 0,0
33141192 3,9 ud |nphug wwnunwly dbfuh hwdwp < hwun 3000 10 30,0
33141192 Ugnnulyph wpnpuhdwy dkituh 4,944 |nphug wwnunwly < hwwn 0 120 0,0
33141192 Ugnnulyph wpnpuhdwy dbifup 4,9dd jnphug wunuwnwly < hwun 3000 60 180,0
33141192 2,400 wpgbjwihwlynn wunninwl QL hwwn 0 50 0,0
33141192 2,400 wpgbjwihwynn wuinnunwl < hwwn 3000 25 75,0
33141192 2,704 wunnunwly QL hwun 0 25 0,0
33141192 2,700 wunnunwly < hwwn 3000 13 39,0
33141192 3,50 wpgbpwthwlnn uwnughng wnnunwy QL hwwn 0 150 0,0
33141192 3,504 wpgbijwthwlnn uwynughng wunnunwly < hwwn 3000 80 240,0
33141192 3,504 wpqbjwthwynn Ynpunhlwi wnnunwy <L hwun 0 100 0,0
33141192 3,50 wpgbjwthwlynn Ynpunhlw w ly < hwun 3000 50 150,0
33141192 3,504 Ynpunpluwy winnunwl hupuwpwlynn < hwwn 0 150 0,0
33141192 3,504 Ynpuhlw wnnunwly huptwpwlynn < hwun 3000 80 240,0
33141192 4,004 uwynughng wwnunwly < hwun 0 20 0,0
33141192 4,004 uwynughng wwnnunwly QL hwun 3000 10 30,0
33141192 4,004 Yuitynywgywd uwnughng wununwy < hwun 0 40 0,0
33141192 4,004 Yulynywgywd uwynughng wunnunwy K hwwn 3000 20 60,0
33141192 4,500 Ynpuinhlw wnnunwly huptwpwlyynn < hwwn 0 80 0,0
33141192 4,500 Ynpuinpljwy winnwnwly huptwpwlyynn < hwwn 3000 40 120,0
33141192 5,0dd wpgbjwithwlynn uwnughng v ly < hwn 0 100 0,0
33141192 5,004 wpgbjwihwlynn uynughng wunnunwl < hwwn 3000 50 150,0
33141192 5,000 wpgbjwihwlynn Ynpnhlw) wnnunwly < hwun 0 50 0,0
33141192 5,00d wpgbjwihwlnn Ynpunhlwy wnnunwly < hwwn 3000 25 75,0
33141192 7,000dd Yndyypliuhnl winnuwnwly < hwwn 0 50 0,0
33141192 $npp Yndwpbiuhnt hwppwly 3,5 dd wwnunwlutiph hwdwp Q< hwuwn 0 10 0,0
33141192 ®npp Yndwpbiupnt hwppwy 3,5 08 wnnunwlubiph hwdwp < hwwn 102000 5 510,0
33141192 Lbtin Yndwpbuhnu hwppwl 4,504 w Yubiph hwdwp < hwun 0 10 0,0
33141192 Lbin yndwpbupnt hwppwly 4,500 wnnunwlubiph hwdwp K hwuwn 132000 5 660,0
33141192 Utly tppnpn winipnywp hwppwl 3,5 dd wnnunwlutiph ac Wi 0 10 0.0
hwdwp
3314192 e ey e el iy 9< huwin 102000 5 510,0
hwdwp
33141192 Lwju Yndwpbupnt hwppwl 4,5 dd wnnunwlutiph hwdwp q< hwwn 0 10 0,0
33141192 Lwjt hndwypbupnt hwppwl 4,5 04 wnnunwlutiph hwdwp < hwtn 162000 5 810,0
33141192 Ntynuunpniyghnt hwppwy 3,5 i wunnunwlubiph hwdwp < hwtn 0 10 0,0
33141192 Mynbunpmiyghnt hwppwl 3,5 Jd wununwlubiph hwdwp S hwwn 102000 5 510,0
33141192 Tynin 1,5 dd 30ud L hwwn 1500 200 300,0
33141192 Gynin 2,0 duf 30ud < hwun 1500 200 300,0
33141192 Tynin 2,5 Ju 30ud < hwtn 1500 200 300,0
33731121 Lbpwluwht nuwuywly Q<L hwwn 37000 250 9250,0
33731120 Ubipwluwht jhgpwnpywsd thwhnid nuwbyuly < hwun 0 250 0,0
33731120 Lbipwluuwh (hgpudnpuwd thuspniy nuwbjuly < huwwn 50000 200 10000,0
3373120 Lbipwluwht thwipniy hhnpndnp nuwtjwly < hwuwn 0 50 0,0
3373120 ULbipwluwht thwihnily hhnpnnp nuwljwl K hwun 49000 30 1470,0
33731120 Unun$nihl dwindh hhnpnhy ng thusyniu nuwywy 9L hwwn 0 50 0,0
33731120 Unun$nihly dwinh hhnpndhy ng thuyini nuwljwl < hun 50000 30 1500,0




33141211 Shiyntunyuh$hlwghwyh hwywpwdnt KK hwwn 0 102 0,0
33141212 Shynkdnyuhbhlwghwih hwjwpwdnt < hwuwn 60000 72 4320,0
33141155 Twbwl UGuwpnidwlwu-Yepwnnd < hwwn 0 250 0,0
33141156 Nwbwl UGbwpnidwluwb-lbr i K hwun 4700 150 705,0
33141155 Tty wilwpnidwlwl < hwtn 0 252 0,0
33141156 Tutiwl wiwpnidwlwl K hwn 5500 180 990,0
33141212 Ultwyhpwhwunwlwl utiply < hwun 0 50 0,0
33141213 UYtwyhpwhwinwlwl Ubpl A< hwun 11000 40 440,0
33141212 Ulbwyhpwhwunwlwy ubpy 9L hwn 0 70 0,0
33141212 Uyuwyppwhwinwluwl ubiply < hwn 3000 50 150,0
33141211 Nuulywlyh Ywwunywp on 12.30/10.0044 < hwin 0 25 0,0
33141211 Nuwtywlh Yuuunywp on 14.30/12.0044 L hwwn 0 25 0,0
33141211 Nuwbjwlh Yuwuniywp on 14.30/12.0004 9L hwn 6500 20 130,0
33141211 Nuulywyh Yuwwunywp on 15.30/13.0044 QL hwwn 0 25 0,0
33141211 Nuulywyh Ywwunywp on 15.30/13.0044 < hwuwn 6500 20 130,0
33191620 Uyuwyppwpnidwlwl dhp. uwntiph) dwdlng uwbinwup Q< hwwn 0 700 0,0
33191620 Uluwyppwpnidwlwl yhp. unbiphy dwdling uwjtinwuh < hwun 1200 600 720,0
33141211 UYuwpnidwlwu pwppphy < hwuwn 0 200 0,0
33141211 UYuwpnidwlwu pwppphy < hwun 4200 150 630,0
33731140 Uwnbiph ubipwluuwyh jidnyp 5004 Q< hwn 0 210 0,0
33731141 Uwnbiph| ubpwluwht nidnyp 5004 Q< hwun 6400 180 1152,0
33731140 hg hly,unbiphi,wwhpngbu |nny; K hwwn 2500 400 1000,0
33141211 Ukphigbynynquyht yhulynkjwuwnhl /qby/ < hwwn 0 250 0,0
33141212 Ubphghynynquyht Jhulynkjwuwnhl /qby/ < hwn 6200 200 1240,0
33141224 Yhunptlunndhwh hwdwp bwhiwbbugwsd qnun hwywpwdnt < hwn 0 12 0,0
33141225 Yhuptyunndhwih hwdwp bwhuwbbudwsd gnun hwdwpwdnt < hwwn 110000 6 660,0
33141184 dwbkp 0,35 < hwwn 0 150 0,0
33141184 Yuwbp 0,35 K< hwn 19500 30 585,0
33141184 Ywbp nhwqunuwnply 0,35 QL hwun 0 50 0,0
33141184 Lbjpnduwbip 0,014 <L hwwn 0 50 0,0
33141184 Lbjpnyuwtip 0,014 QL hwun 100000 3 300,0
33141184 Lbypnydhlypnquwbip 0,014 < hwuwn 0 50 0,0
33141184 Lbypnydhypnyuwkip 0,014 < hwuwn 100000 10 1000,0
33141184 Swn 2hp q< hwwn 0 50 0,0
33141184 Swn 2hp < hwn 78000 5 390,0
33141136 Ninnnpnhs Ywpbinbp < hwn 0 100 0,0
33141136 Minnnpnhs Ywpbinbp < hwwn 55000 20 1100,0
33141136 Uuwhpwghnt Ywpbintip/ubypnhuyjwghy < hwwn 0 50 0,0
33141136 Uuwhpwghnt Ywpbinbkip/utjpnhugwghy < hwin 480000 5 2400,0
33141136 Uuwhpwghnt wpbinbip/wtph$biphy hwuwubihnipjwdp L hwn 0 50 0,0
33141136 Uhlypnlywptintip Q< hwn 0 20 0,0
33141136 Ltypndhlypnlwpbinby K hwin 0 50 0,0
33111310 Uwnbuw/nbinphytip < hwn 0 50 0,0
33111310 Uwnbuw/nbiinphytip G hwn 462800 5 2314,0
33111310 Lbjpnunbiun < hwwn 0 20 0,0
33191510 Pnfutibpwpwliwl hwdywpg/pwpdp Gupdwu < hwn 0 200 0.0
33141211 Gnnunh thwlwny < hwin 0 200 0,0
33191620 Uwntiph| uwywu < hwin 180 150 27,0
33141142 Lbipwplhs thwlwuny < hwtn 0 50 0,0
33141211 hu$nighnt fjunnnywly K hwun 0 100 0,0
33141136 Hhuwgqunuwnhly Ywpbink < hwwn 0 100 0,0
33141136 “hwqunuwnhly Ywpbnbp < hwun 17000 30 510,0
33141136 Thwgqunuwnhl ubjpn Ywpebinbip K< hwun 0 50 0,0
33141137 “Hhwqunuwnhly Utipn Ywpbnbip < hwin 25000 20 500,0
33141211 Ynubijnnp Ywal < hwun 0 200 0,0
33141211 Ynublnnp Ywsl < hwun 18000 20 360,0
33141136 Uhypnywpbptip < hwtn 0 30 0,0
33141136 Uhlypnywpbiptip L hwuwn 230000 5 1150,0
33111310 Uwnbiun q< hwwn 0 15 0,0
33141211 3pndphg wwyinwwlnn gnpdhp < hwuwn 0 15 0,0
33141136 Uuwhpwghnu Yupbinbip < hwun 0 40 0,0
33141136 Uuyjhpwghnt jupbinkp 9L hwwn 395000 15 5925,0
33111310 Uwnbiuwn/nbinphybip 9L hwwn 0 20 0,0
33141211 Uuwhpwghnt Ywptitntip thnpp nhwdbinpny K hwn 0 20 0.0
3314121 Uuwhpwghnt wpbiunbp tnpp nhwdbinpny K hwn 230000 1 230,0
33141136 Uhypnywpbntp L hwn 0 20 0,0




33141184 Lbpndhypnquwytip K hwin 0 30 0,0
33141136 Ywpbnbp phpbinuhly L hwun 20 5000 100,0
33141136 “wptinbip Ubpipwlwiht 246 < hwuwn 45,9 20000 918,0
33141136 Ywpbintip Ubptipwluwht 226 9< hwwn 37 10000 370.0
33141136 Ywpbintip Ubpbpwlwht 206 < hwin 37 10000 370,0
33111230 Uyuniwin pwdwtiwynphsh dwypwlwyubp 10-200dl K< hwin 0,552 80000 442
33111240 Ugundwin pwdwlwynphsh dwypwljwiubip 100-1000dly < hwwn 1,548 40000 61,9
33141115 Pdyluwluwl pudpuwly ny hwlwbbfugws 100g Ubpddynn < huwin 148 4000 592,0
33141115 Pdolwlwl pwugh$ /dwpyuw/ < hwwn 0 60000 0,0
33141116 Pdluljwl pwugh$ /dwpyuw/ < hwn 62,97 30000 1889,1
33141178 “Hinbiph Ubpwplydwl hwdwywpgbip < hwn 0 100000 0,0
33141179 anbiph Ubpwpldwl hwdwlwpgbp < hwin 35 50000 1750,0
33141111 Guwgnil uugbnuith 5°500 Guinphg < hwin 199 8000 1592,0
3314111 Yuyniu uybinwh 2,5*500 Yunnphg < hwun 82 5000 410,0
33141156 Qbinungubip pdoljwljw ng unbiphy < hwun 0 200000 0,0
33141157 QbnungUbip pdplwlywl ny unbphy < hwn 10 100000 1000,0
33141100 Ublwuquijw oquwgnpdiwl pliup-tiphq gyniyndtivnph L hwuwn 0 5000 0,0
33141100 Ublwlqudjw oqunwgnpdduil phiup-tiphg gyniyndbinph < hwun 0 4000 0,0
33141100 Ubljwlgudjw oquwgnpddwl phiup-tinhq gyniyndbivph < hwuwn 90 2000 180,0
33141173 Uhqpunniuhg < hwun 97,5 5000 487.5
33141142 ULbipwplhsubip 1,0 9L hwin 9.7 80000 776,0
33141142 ULbipwplhgutip 2,0 9L hwun 0 100000 0,0
33141143 Lbipwplhsutip 2,0 q< hwn 9,69 50000 484,5
33141142 Lbpwplyhsubip 5,0 < huwwn 99 160000 1584,0
33141142 Ubpwplhsutip 10,0 o< hwin 0 140000 0,0
33141143 Ubpwplhsttip 10,0 o< hwn 14,5 70000 1015,0
33141142 Lbipwplhsutip 10,0 lock < hwn 24,5 5000 122,5
33141157 Lounwplbip b uwypbip K hwn 18 5000 90,0
33161220 Cwuwuwnby thuynk < hwn 4 60000 240,0
33141211 Shd biplwpwgnighs 150ud < hwwn 260 5000 1300,0
33141110 dhpwlwwtip 7*14 ng hwlwubuwsd 9< hwwn 80 10000 800,0
33141110 Yhpwlwwbip 10*16 ny hwlwubiugwd 9< hwwn 136 8000 1088,0
33141110 Uppwlwuybip 5710 ng hwluwbbfugwd < hwn 45 6000 270,0
33191310 PnauAm ey ‘l‘““"“‘"‘”‘:w“:ﬂ‘:" ptinwiien gl ac huin 16,7 48000 801,6
33191310 Pnpdwunpbip Julnwiwht dbjuhu < huwwn 24,8 36000 892,8
33191310 $npdwlnpubip Na ghuy 9< hwtn 16,7 12000 200,4
33141144 Nnuninbinwiht wubin ninqnpnhsny < hwn 0 2000 0,0
33141158 Uhpwpnidwlwl dkinungubip N7 < hwwn 90 6000 540,0
33141158 Uhpwpnidwljwu dkinungubip N7,5 < hwun 88 8000 7040
33141158 Yhpwpnidwlwl &kinungutip N8 < hwuwn 88 7500 660,0
33141158 Yhpwpnidwlwt &bnungubip N8,5 < hwwn 88 3000 264,0
33141121 Uhpwpnidwlwl phijtip Lyt 1 9< hwun 200 180 36,0
3314121 Uhpwpnidwlwu phitp Linu 0 <L hwtn 200 180 36,0
33141121 Uhpwpnidwlwt phitip Liynu 2/0 L hwwn 200 240 48,0
33141121 Yhpwpnidwlwu phijtip Liynu 3/0 9< hwwn 200 240 48,0
33141121 Yhpwpnidwlwu phitp Lbynu 10/0 < hwwn 0 24 0,0
33141121 Uhpwpnidwlwb phitp Ykngnun 0 < hwn 0 600 0,0
33141121 Yhpwpnidwlwu phijtip Ytingnun 2/0 < hwun 280 900 262,0
33141121 dhpwpnidwlwu phjtip Ybngnun 3/0 < hwn 280 900 252,0
33141121 Yhpwpnidwlwl phitip 4Ytkiingnun 4/0 < hwun 280 480 134,4
33141121 Yhpwpnidwlw phitip Mnjhypnuhitu 0 < hwuwn 169 600 101,4
33141121 Yhpwpnidwlw phip Mnhwpnwhytu 1 9< hwwn 180 600 108,0
33141121 Uhpwpnidwlwl phiip Mnthwpnwhtu 2/0 < hwwn 169 600 101,4
33141121 Yhpwpnidwlwu phitp Mnhwpnuhitu 3/0 < hwwn 180 720 129,6
33141121 Yhpwpnidwlwu phitp Mnhwpnuhtu 4/0 < hwwn 180 480 86,4
33141121 Yhpwpnidwlwl plijip Mnjhgiwlwnhu 0 < hwun 309 900 2781
33141121 Yhpwpnidwlwu phiip Mnjhgulywnhu 1 < hwuwn 315 960 302,4
33141121 hpwpnidwlwl phitp Mnjhqulnpu 2/0 < hwwn 306 600 183,6
33141121 Yhpwpnidwlwu phitip Mnhgiuywnhu 3/0 < hwun 309 600 185,4
33141121 Uppwpnidwlwl phip Mnhgwywhu 4/0 < hwuwn 330 240 79,2
33141143 Unlungb 250,0 < hwwn 168 500 84,0
33141143 Unungbi| 1| Q< hwwn 680 240 163,2
33141183 Ybpwypdwu gnun 6G,8G < hwwn 44 600 26,4
33141211 Stuwwnwhsh gbipdwihu pninp 9L hwwn 0 80 0,0
33141211 Unwpyuywluwl wywlh 9ih$ nuipnny RS hwin 6,84 18000 1231
33141211 Owdljwuwwlh < huwwn 1,86 18000 335




33141228

hunhlwwnp onwiht unbiphjhqugnuing N1000 < hwn 6900 12 82,8
33141228 hunhly n gninp2hny uwntiphthquignidng S hwun 0 6 0,0
33141201 Puwiupjut < hwwn 0 60000 0,0
33141202 Puwlupjubp o< hwin 28 20000 56,0
33711490 MNwhwywlwlutip K hwuwn 0 12000 0,0
32351230 Nbungbt dwwywytu 30*40 Q4 hwwn 0 4000 0,0
33141136 Uuwhpwghnt Ywpbintip/wtiph$bphl hwuwubipnipjwdp < huwn 0 50 0.0
33141136 UhUpnlwpbnbp < hwin 0 20 0,0
33141136 Lbjpndhlypnlwpbnbp < hwwn 0 50 0,0
33141184 Lbypndhlypnduybip 9L hwwn 0 30 0,0
33141137 Puwnuwjht Yupbnp 3 < hwwn 0 50 0,0
33141137 Punbwhl uptinp OTW < hwin 0 5 0,0
33141136 Swyn Ywpbinp 2 < hwwn 0 70 0,0
33141211 i h 6ugnn Yuiy < hwwn 0 50 0,0
33111310 Hinwwwwn unkiuwn 4 < hwuin 0 30 0.0
33141211 Eiypnn nhpuiwywp dwdwlwlwynp uwpptiph < hwwn 0 2 0.0
33141184 Ynpnuwp Jujtip 0,4-0,5¢ < hwin 0 120 0.0
33141184 Ynpnuwp Juytip CTO < hwun 0 10 0,0
33141184 Ynpnuwp Jujtip CTO 1 < hwwn 0 5 0,0
33141184 Ynpnuwp Juybip CTO 2 < hwwn 0 5 0,0
33141136 Uhypnywptitnp Ynpnbwp wunph QL hwin 0 5 0,0
33141137 Pwnuwjht jwpbinp guwdpwpnhy Q< hwwn 0 60 0,0
33141137 Pwinuwht ywpbnp guwdpwpnphi NC < hwuwn 0 100 0,0
33141137 Pwinuwjht jwpbinp guwdpwpnph; OTW < hwwn 0 10 0,0
33111310 Bupwwupwlwht qupltipwlh unbln K hwn 0 1 0,0
33141208 huwnpwrnynwubip $bdnpuy (Ywpé) QL hwn 0 4 0,0
33141208 huwnpwrynwbip $bvnpuwy (Eplwn) < hwun 0 4 0,0
33111310 Uwnbuwn whph$tiphly <L hwn 0 20 0,0
33141137 Hhywwnwghnt Ywpbnbp whph$tiphy < hwin 0 50 0.0
33111310 Ninnnpnhs jwp < hwwn 0 20 0.0
33111310 Ninnnpnhg (wp < hwwn 0 4 0,0
33111310 Ninnnpnhs jwp < hwun 0 2 0,0
33111310 Nunnpnhs jwp < hwwn 0 2 0,0
33191310 Ynuwdl hwinwyny 110; thnpdwunp < hwn 0 500 0,0
38431710 Mhuybin wwuwnbiph < hwwn 30 1000 30,0
38431710 Ugwnndwin whubinn wpnghly 100-10004ly < hwn 6491,66 4 26,0
38431720 Mhybitnh dwypwnhp $hpnpny QL hwn 15,625 384 6,0
33141136 Lbpwpqunwih Ubpwpliwb Ywpbinbp < hwn 0 100 0,0
33141137 ULbpwpquiinwht bpwpyiwy Ywpbinbp < hwun 5850 50 292,5
33141130 Swpw wuwihgh ng untiphy 1004 < hwtn 26,667 6000 160,0
33141410 Swpw wuwihgh uwnbiphi 1004 q< hwwn 28 4000 13,3
33141202 £US-h blnpnn a9 hwin 50 20000 1000,0
33141202 Ebyunpnn wubinuyh q< hwtn 1920 50 96,0
33141202 Eblwpnng dwybpbuwht dug/ogun < hwun 150 72 82,8
33141202 Eibywnpnn wwuhy < hwun 28000 2 56,0
33141202 <nnuugdwl jwp K hwin 34000 1 34,0
33141136 Ywpbintip dhquyht bnwéjnin 206 L hwn 350 160 56,0
33141136 Ywpbunbp dhquihl Gnw6jnin 186G < huwn 350 60 21,0
33141136 Ywpbintip wuwhpwghnu < hwn 103 1200 123,6
33141136 Ywpbintip tipnitynndhwih Snqupnh inhwh Q< hwun 16500 15 2475
33141100 Ublwbqudjw oquwgnpdiwl phup-tiphq gyniyndbnph < hwn 150 5000 750,0
33141142 Ubipwplhstbp 50,0 q< huwn 90 3000 270,0
33141142 Ubpwplihsubip 60,0 < hwn 100 800 80,0
33141138 Ywnyw ppwpRYwdUwhu K hwn 200 1000 200,0
33141138 Ywlynyw ppwht Lwi$inth 9< hwn 15000 2 30,0
33141157 Lowunwpubip b uwjpbip G< hwwn 30 1000 30,0
33141112 Uwbnwuh uwuwnuwply < hwwn 7 10000 70,0
33141110 Uhpwlwwbip/ Shyuwluwy 30*20ud < hwun 650 720 468,0
33141120 Utindhgutip Q< hwun 80 1000 80,0
33141211 Swlg 6nnywdph A< hwin 10000 100 1000,0
33141205 Eunnunpwlubiw funnnyuwl dwudtinng AL hwin 450 500 225,0
33141205 Eunnupwhubw funnniuly a< huwn 500 80 40.0
33191620 Suhsh pninp < hwun 1200 120 144,0
33161100 Eunnyhpwpnidwljwl Yunpnn wnbin 24GH < hwn 15000 25 375,0
33191310 YnUwdl hwuinwyny 114d) thnpdwunp < hwun 579 500 289,5
33121180 Snundbinp unbnnulynwyny YL hwun 7000 80 560,0
33141121 Yhpwpnidwlwl phip Mnigjulnpu 5/0 < hwwn 670 180 120,6




33141182 pbuwd (nwdnpwuh T-&l K hwwn 6600 30 198,0
33141184 (3nph npblwdh thwlhwl K hwwn 6800 30 204,0
33141182 (dnph npbuwdubip < hwwn 4200 40 168,0
33141182 Npnyuwjuh npbbwdubip unbiph K hwwn 1800 300 540.0
33141136 Yhtunpnbwlwl bpwluhl Gupbnby K hwin 7200 50 360,0
33141155 bytilnpnlnwgnyyuighnt quitiwl < hwn 1000 500 500,0
33191310 Pnpdwunpubip pnpnuphywnwihu < huwn 60 1000 60,0
33191310 Pnpdwunpubip wwuwndwub bybunnp$ 1,50 q< hwun 10 6000 60,0
33191310 $npdwunph dbg tnpwluwnpuiwhl fudnid AL hwn 150 1000 150,0
33141183 2nun, unwdnpuwyht < hwwn 103 1000 103,0
33141211 Gnninh thwljwuny < hwwn 180 200 36,0
33141211 Mhybwnubp ELU 9L hwwn 200 500 100,0
33141179 hudtijinndwinh hwywpuwdnt QL hwuwn 28 000 80 2240,0
33191620 Fninp 4SI 150*110 < hwwn 2600 60 156,0
33711490 Muwhwwuwlutip < hwuwn 60 12000 720,0
33141157 Uhypnunnih gbinp < hwun 1300 300 390,0
33191280 Muwpwhhtwqgbipd dhnwnwlwl junwwwp Q< hwn 21 000 3 63,0
33191620 Uwywb ubipddnn qluwihwpb < hwin 1500 50 75,0
33141201 Puwfuputp uu huwn 6 16600 99,6
32351230 Mgt dwwywytu 30*40 (N 100) uu hwn 38500 15 577,5
38431700 Uhypnwnndh otinp N50 uu wnnuh 65000 3 195,0
33141142 Lbipwplhs 1g uu hwn 20 5000 100,0
33141121 Uhpwpnidwlwl phij wnihwpnwhibu uu hwun 315 312 98,3
34141173 Utigpunniuhs uu huwwn 51 1800 91,8
33141140 Uuwhpwghnu Ywpbnp uu hwwn 103 970 99,9
33791300 Pnpnuhhyuwinwihl thnpdwunp uu hwn 60 500 30,0
33141149 Sh |wjhU wubnubip quiplytipwyuhu uu hwn 200 250 50,0
33141149 bh |\whU wubinubp Gpwlwhu uu hwuwn 200 250 50,0
38431700 f3tipdndwwyuwytu uu hwn 3400 10 34,0
31651200 EUS dwywytu58*20 uu hwun 900 10 99,0
38431700 Ewkunnp$/ jwpnpninnp wwpwgw uu hwwn 10 2000 20,0
38431700 e 4SF 150*110 uu hwwn 2600 20 52,0
24931500 Gpluwlhs uu hwwn 8100 12 97,2
24931600 Ywjniuwgnighy uu hwwn 8100 5 40,5
33141183 Unwidnpuwjh gnun. uu hwwn 103 970 99,9
Cunwdbup 304603,9
£bUbhUUUL L3NhREN
33211450 Ujpnudhl 9L phup 0 7000 0,0
33211450 Ujpnuihu 9L phiup 1104 1000 1104,0
33211430 U pw wihjwqu < phiup 0 2000 0,0
33211430 Uipw wdhjwqw L phup 169,8 1000 169,8
33211410 Uuywpunwwdhuninpwu$tipug AST < phup 0 7000 0,0
33211410 Uuwwpunwwdhuninpwlubbipwq AST < phiup 21 2000 42,0
33211420 Uywuptuwdhuninpwu$ltipu ALT e phiup 0 8600 0,0
33211420 Uywuhtwdhununpwlubbipw ALT 9L phup 21 3000 63,0
3311140 Phihnnipht/Cunhwunip l;:‘ln‘ﬂqlﬁgg:nmphbh npndwu phup ac pbup 0 21000 0.0
33211140 Phihnnipht/Cunhwunip l;:v:ﬂq P:lh""lphbh npn2dwl phiup- ac¢ diug 26 10000 216.0
wont
33211340 <bdngnphu < phup 0 8000 0,0
33211340 Zhunginphl < pup 5,85 800 47
33211110 Utinhwuppht MediScreen /Utigh dbg gyniyngh U wgkinnup ac — 17.76 8400 1492
npnodwl phiup unphwubiph hwwpwdnt
UFFLJFFN&'SCE—Q wupp T ree'n'l}{)'gﬁﬁns'rq“g—qﬁ—g quGNQQ, wnjws,
uwhwnwlmgh, pH,YGwnntutiph,nbuwlwpwp Yonh,
33211110 uhwiphwbiph, [Gynghwnutiph, ninninphuhgbuh U phihanuhuh < phiup 65,4 5000 327,0
npndwl phup unphuyubiph hwwpwdnt CYAN strip
33211160 GpbwnhUhl CREA-Col/ Ypbwwhthlh npnpdwl phiup < phup 9,15 25000 2288
33211160 Ypbwwnhuht Yhuwqus 9< phup 0 2000 0,0
33211160 Upbwinhlpl Ghtwqu < phup 150 1000 150,0
33211310 3pndpnuywunhuh npnpiwl phup hwywpwdnt < pbup 0 24000 0,0
3321310 @pnupnuywunhup npndwl phup hwywpwdnt G< phiup 5 12000 60,0
33211150 Uhquitynie Urea-Col / Uhquiyniph phiup - hwywpwdnt < pbup 0 15000 0,0
33211150 Uhquiynip Urea-Col / Uhquyniph pbiup - hwiwpwdnt < phiup 217 7200 156,2
33211320 Chiwwwhwn C Yhpnwh wuwnhgbuh npuywlwu ac pbup 102,96 8000 8237
hwpnbwpbipdwl phiup
33211320 <Guynhin B Uppnih wuhgbLh apuwyuwlul a¢ pbup 66 8000 528,0

hwnuwpbpdwu phiy




33211320

Lhwywwnhwn C yppnuh wunhgbuh  hwjnuwpbpdwl pbup < pbup 104,17 1728 180,0
33211320 Lbywwnhwn B dhpmwh wuwnhgbuh  hwjnbwpbipdw pbup QL plup 113,75 1728 196,6
tunjtuntipng CHOLESTEROL /Cunhuwunip funjbuntiphth phup
qc b 0 4000 0,0
33211130 P ——— pbup
tunjtiuntipn; CHOLESTEROL /Cunhwunip funbuwntiphuh phup
1
33211130 hudwowsnt phiup 21 1000 21,0
33211130 tunjtiuntipn /HDL- junjtuwntiphu L phbup 0 400 0,0
33211290 Ywihnuwih npnpdwu phup-hwywpwdnt < phup 0 18000 0,0
33211290 Ywihnwh npngdwt phiup-hwwpwdnt L phup 93,6 1000 93,6
33211300 Ywighnwh npnadwl phiup-hwywpwdnt < phup 0 3000 0,0
33211300 Ywighnwh npnadwl phup-hwwpwsdnt AL phup 21 1000 21,0
33691162 Luwwnphnud < phup 0 800 0,0
33211290 Lwwnphnid < phup 319,95 200 64,0
Qwlwuinpbuyinninhght-0 Anti Streptolysina-
33211260 O/Cwlwuwnpbuyuinnihght-0 npndwb phiup-hwywpwdny ASO/ < phup 26,4 1500 39,6
latex
Snunwy wpninthu-Yn| Total protein-Col/Cnhwunip
3321127
0 uwhunwlnigh npnodwl phu _hw wpwdny/ ia pauR g 7000 00
33211270 Snwnw| wpninbhu-Yn Total protein-Col/Crhwunip ac - 8.88 3000 26.6
uuhunwlnigh npnodwu phiup hwwpwdny
33211470 Spnwnup/whuwn.ujnipbip/ < phup 0 1000 0,0
33211470 Spnwynupb/wuwn.uynipkip/ QL phup 322,8 500 161,4
Mudwwnnhn Dwlunnp Lwinbipu Rematuoid factor-
33211240 lex/MHudwinnhnuyht wlinnpubiph npnadw phiup- q< phiup 25,68 2000 51,4
hudwpwidny/
33211120 Fyntynq G-col/qyniyngh npnodw phiup-hwywpwdny/ < phup 0 25000 0,0
33211120 Fyniyng G-col/qyniyngh npnpdw phup-hwdwpwdny <L phup 9,24 6000 55,4
33211250 8-ntiwlinhy wpninbht-juwinbipu C-Reactive Protein-lex/C- ac i 25.68 15000 3852
nbwlwnhy uwhwnwynigh npnodwl phup-hwywpwént
NMM-Ywppn RPR CARBON/Uh$hihuh npnzdwu phiup-
33211230 e Q< phup 33 5000 165,0
33211190 Snihlyint wuwh-A /wpywl fudph Il npnpdwu phup <L phup 2,4 12000 28,8
33211200 8nihlyint wuwnh-B /wpywt fudph 1l npnpdwt phiup < phiup 2,4 12000 28,8
33211200 8nhlynt wunh-AB QL phup 3,96 1000 4,0
33211220 Snhyint wuwnh-Unwytip/ rh D nhqnlu hwdwlwpgh ac phup 48 12000 57.6
wuwnhgbuh npnpdwu
33211210 Snibbiguunh; U"“:b"f‘ ’: %:JZ“”‘” huyluilunghy 9¢ | phup 9 1200 10,8
winhglith_npnpduil piup
Sphaitighphn TRIGLECERIDES/Gngihgtiphnh npn2dw phiup- 2000 00
33211180 Filifiiasn Q< pbup 0 A
Sphqytighpphry TRIGLECERIDES/Gng|hgtiphnh npnadwu phupe- o 205
33211180 hulwpuwnt < phup 45 500 2
Mpnunwn uwbigh$hly wunhgbuh npwlwlwu npndwl phiup
< bi 0 672 0,0
SERI1330 hwywpwdnyPSA punhwunip FLe
Mpnunwin uwtigh$hly wunhqbuh npwlwlwu npnadwl phiup-
127.5 192 245
SR hwJwpwdny/PSA punhwunip o plaip
33211350 (Fhptininpny hnpdnu HTSH < phiup 0 2304 0,0
33211350 3hptinunpnyy hnpdnu HTSH < phiup 135,63 768 104,2
33211370 (Ghpopuhu T4 < phup 0 384 0,0
33211370 (dhpopupt T4 < phiup 171,875 96 16,5
33211370 Uqun phpopuhu FT4 G phiup 0 1152 0,0
33211370 Uqun phpopuhu FT4 QL phiup 159,375 768 122,4
33211380 Gnjnnphpnupu T3 q< phiup 0 288 0,0
33211380 Gnynnphpnupu T3 QL pbup 177,083 96 17,0
33211380 Uqun nynnphpnupt FT3 < phiup 0 288 0.0
33211380 Uquin binjnnphpnupt FT3 Q<L phup 165 96 15,8
33211390 Anti TG-Cwlwdwpdhuubp phptinginpnypup Lywndwdp <L phiup 0 576 0,0
33211390 Anti TG-Cwljwdwpuhuubip phptinginpnyhuh Ujwindwdp < Rlup 165,625 192 31,8
33211390 | Anti TPO-Cwlwidwpdhuubp phptinwytipopuhnwagh Ujwndwdp Q< pbup 0 960 0,0
33211390 | Anti TPO-Cwlwdwpipuutp phptinytinopupnwagh Ulwnduidp < pliup 162,5 384 62,4
33211280 Ppnigliingh npngdwl phiup hwywpwdnt K phiup 0 200 0,0
33211280 Ppnigtiingh npngdwl phiup hwywpwdnt < Rhiup 240 100 24,0
33211170 Uhquppnt UricAcid/Uhquppuh npn2dwt phup-hwiwpwsnt Q< phup 0 1500 0,0
33211170 Uhquippent UricAcid/Uhquppdh npnpdwl phiup-hwiwpuwdnt < phup 26,2 1200 31,4
33211430 Swiddw gynunwdh| inpwuubbipwqu q< phup 58,5 1000 58,5




Lwpnpwwnnp wqnwyniyetip/nbwqbunutp/ @bup Ynwupnu

336911
691162 wolilwd whintbn nenobin hudus Q< REuR 318 100 31,8
33691162 Lwpnpwinnp wqnuwbympbp/nbwgbunubp/ LDH-L QL phbup 0 2000 0,0
33691162 Lwpnpwwnnp wqnwlynipbip/nbwqbunutp/ LDH-L Q< phup 24 1000 24,0
33691162 Lwpnpwwnnp wgnwyniptip/ntiwqbunutip/ Snubnp < phiup 35 1200 42,0
33691162 Lwpnpwwnnp wqnuwlynipbip/nbwgbunutip/HIV- 3hu 9< phiup 177.6 5000 888,0
33691162 Lwpny n wqnwlyniptip/ntwgbunutp/MMd QL phup 45 8000 360,0
33691162 Lwpnpuwnnp wqnuyniplip/nbwgbunutp/Uwqubghnuh ac¢ phup 30 1000 30,0
npnodwl phiup
33211430 <hdu. $nudpwinwquih npndwt hwywpwdnt < pliup 34,8 200 7.0
33211500 Stiphuhu < Rhup 318,75 576 183,6
33211500 Lbhynpwlynbip < phup 0 576 0,0
Lwpnpuwwnnp wqnuwuynipbip/nbwgbunubp/ Ynunpng
33691162
. nidnypUbn Unpdw) 54 F¢ | phwe 6936 ! 52
wpnpwunn wqnuwnipbip/nbwgbunubp/ nunpng
33691162
o ndnyputin ng unpduwy 54 % i i ! i
nniuwpwuwlywy wuwhquwnph nbwlwhyutip-
32115
3 00 Uiz isgiing20) q< hwn 0 60 0.0
Upjniwpwbwlwl whw(h -nnh nGwlnpuuGn-
33211500 ’ Y i
Louhs s wwinnn-2 Q< hwwn 138000 24 3312,0
33211500 U.mmhujpumu.nuwb wuwhqwwnph nhwl‘lnht{’uhp HGB - ac it 0 18 0.0
Upjniuwpwbwy g mnhww? Fn nb [ubp-HGB
33211500 Pntiuipuli “‘w “L‘un‘" :;“ r "‘l“"h n-Hss- ac huwtn 145200 4 580,8
puwipwinn niwghlin-3
33211500 Upniuwpwiwlwl wuwihquwnph nhwhmht{bbp -WBC ac it 0 40 0.0
puipwinn nbwgbuwn-3,8
33211500 SRR R W "h‘“l‘“‘h‘n‘h" A 9< | hun 90600 18 1630.8
pwipwinn nbwgtln-
33211500 Upniiwpwlwlwl whwihquunnph nhwhmhl{bhn Eughdwinhy ac it 0 10 0.0
e nbiwgbun-1004
33211500 nnitwpwbwlwl wuwhquunnph nbwlwnhyubip-Eughdwnhy ac b 296400 2 592.8
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Yuihppunnp pwipnphy
33211501 e e DL L ac | ptup 403200 4 1612,8
Yuihppwinnp puipnphy
33911500 Upnitwpwtiwlwl wuwihqunnph nbwlunhyubip-ukuunp ac pbup 0 2 0.0
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33211501 Upynitwpwbwlwb wuwihquinnph nbwlwhyubp-ubunp ac i 147000 ; 1029.0
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33211470 Spnuntpt | < phup 0 3000 0,0
33211470 Spnuynbipt | < phup 2100 1500 3150,0
Mpnuwnwn uwyligh$hly wunhgbuh npnpdwl phup
200 0,0
33211330 hulwbwdnPSA LYe phup 0
Mpnunwn uwylighbhl wunhgliuh npngdwu phiup
Q< 1800 100 180,
33211330 Dl BGALPSA Rtup 0f 0,0
33691162 Lwpnpwwnnp wqnuwiynipbip/nbwgbuwnutip/ dhunwdhu D K phiup 2400 200 480,0
33691162 Lwpnpwwnnp wqnuwlynipbin/nbiwgbUnutip/ D-Dimer L phup 0 100 0,0
33691162 Lwpnpwunnp wqnulyniphip/nliwqtunutip/ D-Dimer < phiup 199,8 50 10,0
Lwpnpwwnnp wqnuwbniplin/nbwgbunubp/ gihinihqugyws 00
33691162 Emabi < phup 0 100 A
33691162 Lwpnpuwwnnp wqubjn\[::E:‘nh:qZUmhhn/ q(hyn(hqugywsd ac pbiup 1800 50 90,0
33211250 8-nbwlnhy wpnunkihu L phup 0 100 0,0
33211250 8-nbwlnhy wpnunkihu < phiup 1800 50 90,0
33691162 Lwwphniptinhly uwhinwynig 9< phiup 0 50 0,0
33691162 Lwwnphnipbinply uwhunwlynig < phiup 2400 25 60,0
33691162 Ynpuhgng K pliup 0 50 0,0
33691162 Ynpunhgny < pbiup 2400 25 60,0
33691162 Mpnlwighunnupu < phup 2400 150 360,0
33691162 Uhlypnwipnidht dtigh dbg AL phup 1800 25 45,0
33691162 a-pbnnwpnintihu <L phup 1800 25 45,0
33211350 (@hpbinnpnuy_hnpunu Q<L phup 0 50 0,0
33211350 (@hpbininpnuy_hnpunu Q<L phup 1800 25 45,0
33211370 3hpopuhu T4 punhwunip < phup 0 50 0,0
33211370 (@hpopuht T4 punhwunip < phup 1800 25 45,0
33211500 Mpnjwlwnhu K phiup 1800 25 45,0
33691162 Cobas e 411 Ejijuhu pwpap qquijunigjwt Spnwnupt T ac it 0 10 0.0
wbwlwlwl npnpdwt phup hwwpwdnt
33691162 Cobas e 411 Ejljuhu pwpdp qqujunipjwl Spnwnupu T ac - 118100 D) 2362
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i < hwwn 0 3 0,0
Cobas e 411 Ejtluhu pwpdp qqujunipjwu Spnwnuptu T
33691162
wihpnwinng q< hwwn 25800 1 25,8
33691162 Cobas e 411 Eililjupu u{phuhlqnhm[ml Spnynuhl Q<L hwun 0 2 0,0
33691162 Cobas e 411 Ejtijuhu wpbiuhyntnpng Spnwynuihts < hwin 21700 1 21,7
33691162 | Cobas e 411 Ejijuhu wquun phpopuhth npnpdwl hwywpuwdnt < hwwn 0 6 0,0
33691162 | Cobas e 411 Ejkljuhu wquin phpopuhtih npngdwt hwwpwdnt | G< hwn 38400 1 384
33691162 Cobas e 411 Ejlijuhu wqwwn phpopuhth Ywihppwinnp < hwwn 0 2 0,0
33691162 Cobas e 411 Eytiljuhu waquin Rhpopuhuh uwmppwmnp < hwn 27700 1 27,7
33691162 Cobas e 411 tlhhuhu Rhr nnuy hnpdn! h ac huwn 0 7 0.0
- nodwl phuwn-hwywy
] hnt \ Lwywywy
33691162 chasie tlhl"‘h” RINENENNY h"“""“" RUlingy ac hwn 23600 2 472
npn2dwu phiun-hwyw,
33691162 Cobas e 411 Ejlijupu phptinnpny hnpdnup ywihppwinnp < hwwn 0 4 0,0
33691162 Cobas e 411 Ejtiyuhu phptinunpnuy hnpdnuh Ywihppwnnp < hwwn 21500 1 21,5
Cobas e 4
33691162 abas’e:A¥1;EtljuhuCuiighnhry wonnpuhnwdh 9¢ | hun 39100 ! 39,
- hwlwdwpdhuutiph pbun hwjwpwdnt
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hwlwdwnpdhuutiph Yuihppwinnp
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33691162 hwlwdwpdhuubph pwbwlwlwy npnpiwl phuwn- q< hwwn 62300 1 62,3
Cobas e 411 Lt b uh Ul Jua,
33691162 s Eu Rt CY S 26900 1 26,9
hwlwdwpdhuutiph Ywihppwinnp
33691162 Cobas e 411 Ejtijuhu Mwpwinhpbinn. hnpdnuh puwbwlwljwl ac hustn 187800 2 3756
npnoUw phiun- hwdwpuwdnt
33691162 Cobas e 411 Ejijupu Mwpwinhpbin hnpdnuh ywphppwnnp < hwwn 0 2 0,0
33691162 Cobas e 411 Ejljupu Mwpwwnhpbinn, hnpdnuh Ywphppwnnp < hwwn 53800 1 53,8
33691162 Cobas e 411 Ejtiljupu wpbiupyntwpng Thyro Ab-h < hwun 70400 1 70,4
33691162 Cobas e 411 Ejtljuhu wpbiuhynuwnpn Juphw < hwwn 61000 1 61,0
33691162 Cobas e 411 Ejtijuhu uhuyny K hwun 0 5 0,0
33691162 Cobas e 411 Ejtiljuhu uhuynp K hwn 22500 1 22,5
33691162 Cobas e 411 Hybiluhu (ynibuinbbph pwihiwl wpln q< huwn 0 1 0,0
33691162 Cobas e 411 _Ejbljuhu unnighsh wunpubiph hwijwp <L hwtn 0 1 0.0
33691162 Cobas e 411 Ejtljupu dwjpwnhpubip <L hwn 0 2 0,0
Cobas e411-h wwppbipwlwu nbuthywlywy fubwdph
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33691162 [ — < hwwn 0 0,0
33691420 Ubuyuwly XP-300 < hwtn 0 180 0,0
33691420 Ubjuywy XP-301 9L hwin 21000 50 1050,0
33691420 Uwnpndwwnnjwiqtip-WH XP-300 < hwwn 0 50 0,0
33691420 Uunpndwwnnjuyqtin-WH XP-300 K hwun 120240 20 2404.8
33691420 Ubiypihu XP-300 <L hwun 0 13 0,0
33691420 Ubiyp|hu XP-300 < hwun 42600 7 298,2
33691420 e bwhiwnbuwd gbpduwyhl nwhsh hwdwp XP-300 < hwwn 0 200 0.0
33691420 Fnine bwhuwnbuywsd shipdwihu nwhsh hwdwp XP-301 < hwwn 534 100 53,4
33691420 Uhup Ynytiljin XP-301 G< hwtn 90 2000 180,0
Cobas e 411 Ejijuhu $njwppdh pwiuwlwlwu npndwl phuwn-
1 79,7
33691162 A q< hwin 79700
33691162 Cobas e 411_Ejbluhu $njwepdh Yuihp < hwtn 26900 1 26,9
33691162 Cobas e 411 Ejalyupu Jhnwdhu B 12 pwhwhwuwb nnnzdu.m ac b 38300 1 383
Guwn-hwywpwdnt
33691162 Cobas e 411 Ejiupu yphunwidhu B 12h ywihppwnnp Q< hwwn 26800 1 26,8
33691162 Cobas e 411 Mpbuhyntwpn| niuhybipuwy < hwun 0 2 0,0
33691162 Cobas e 411 Mpbiuhynunpng niuhybipuw < hwin 25800 1 25,8
33691162 Cobas e 411 Mptiuhynunpn| dnyuinpdwplip < hwn 0 2 0,0
33691162 Cobas e 411 Eytiljuhu (nidhg dnyuinp q< hwin 0 1 0,0
33691162 Cobas e 411 Ejijuhu (ndhy niuhybipuwy G< hwn 0 2 0,0
33691162 Cobas e 411 kiyupu Ywihppwinnph wunpubiph hwwpwént Q< hwwn 0 1 0,0
33691162 Cobas e 411 bjbljuhu unnighs wunpubiph hwywpwdnt < hwwn 0 1 0,0
33691162 Cobas e 411 ISE uhulgh a< huin 0 1 0,0
33691162 Cobas c111 PhuL.- junjbuptipn| npnpuwl phup hwywpwd K< hwn 0 2 0,0
33691162 Cobas c111 PhuL- junjtiuplipn| npnauwt pliup hwywpuwdnt < hwun 41700 1 41,7
33691162 Cobas c111 “Ywihppwuinp (pwhnutiph hwdwp K huwwn 17700 1 17,7
33691162 Yihtub < hwin 0 7 0,0
33691162 Mpnuki L huwn 0 7 0.0
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33691162 Ywihppwinnp Ynipe bwhuwnbudwd phnphdhwlwl phuwntiph ac hutn 0 5 0.0
hwdwp
33691162 Ywhppwnnp Yynie bwhiwnbuwd phnphdhwlwl phuntinh ac i 34700 1 347
hwdwp
33691162 Lywgnn htinniy cleaner cobas 111wbwjhqunnph hwdwp < hwwn 0 8 0,0
33691162 Lywgnn htinny cleaner cobas 111wuwihquinnph hwdwp < hwun 14100 3 42,3
33691162 Uwnnighs Uynip wpliuhynuwnpng dnyunp 1 QL hwn 7560 1 7,6
33691162 Uwnnighs Uynip wypbiuplynuunpng dnyunp 2 L hwwn 7560 1 7.6
33691162 Ynpwu udniph wunputip :uu:[::;rl‘nhwwb cobas c111 uwpph ac hwn 0 2 0.0
Uuwwpunwwn wihunnpwuubbipwq npnodwu pliun
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3691162 Kiistliibiiisn < huwwn 17900 4 71,6
33691162 Ujwpt wihunuinpwiubbipwg npnadwt phiun hwywpuwdnt 9< hwwn 0 30 0,0
33691162 Ujwlpt widhunuinpwbudbipwg npnadwt hiun hwiwpuwdnt <L hwuwn 17400 4 69,6
33691162 Uhquujnigh npnpdwl phiun hwywpwdnt < huwwn 0 30 0,0
33691162 Cunhwunip uwhunwynig npnpdwl hun hwywpwdnt < hwn 0 10 0,0
33691162 Cunhwunip uyhunwlng npnadwl phiun hwywpwdn 9L hwwn 21700 2 43,4
33691162 Upw wihjwq npndwt phiun hwywpwdnt < hwwn 0 12 0,0
33691162 Ujpnuwiht npnpdwl phiuwn hwwpwdnt L huwwn 0 10 0,0
33691162 Upnidhu npngdwit phiuwn hwywpwdnt < hwun 18400 2 36,8
'}hlqpnmbhbhqmghnq hhr[mu Uwfuwwnbugwsd  cobas 11l
33691162 i q< hwn 0 6 0,0
"}humnmbhbhqmgunr[ hhqmu hmhlwmbm{wb cobas cl11
33691162 94 hwin 6700 2 13,4
ﬂhuhnuluqbbhhhq bu]umhl[b bas
wlg| nutiinutin wwpwmww ujwd col
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33691162 Ypbiwwnhuht npndwt phun hwywpwdnt < hwwn 0 20 0,0
33691162 Ypbiwwnhuht npndwl hiun hwywpwsdn K hwwn 15500 5 77,5
33691162 Syniyngh npnpdw phiun hwywpwdnt K hwun 0 60 0,0
33691162 Syniyngh npngdwit phiun hwywpuwdnt < hwn 16400 10 164,0
33691162 tunjtiuntiphu npnpdwl phiutn hwywpwdnt < hwun 0 2 0,0
33691162 hunitunbiphu npndwl phiun hwywpwadnt < hwun 16000 1 16,0
33691162 Sphgihgtiphriutiph npngdwl phuwn hwywpwdnt < hwuwn 0 2 0,0
33691162 Sphaihgtiphnutiph npngdw phuwn hwywpwdnt Q< hwwn 16000 1 16,0
33691162 Ninnwyp phihnniphtp npndwl phiun hwywpwsdn < hwun 0 20 0,0
33691162 Ninqulh phipaniphtp npn2dwl phun hwywpwsn < hwwn 10500 4 42,0
33691162 Cunhwunip phihnniphuh phiun hwywpwsnt K hwn 0 20 0,0
33691162 Cunhwunip phihnniphth phbun hwywpwdnt < hwtn 22100 4 88,4
33691162 Lwlunwwn nhhnpngbuwgh npnadwt phiun- hwywpwdnt K< hwun 0 8 0,0
33691162 YpbwwnhU Yhuwquyh npnadwl Ywihppwnnp L hwn 0 8 0,0
33691162 $hpphungbiih npnzdwl phuwn hu.n{wpwbm <L hwwn 154080 8 1232,6
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33691162 wungugyuwd wwqdwiht uwhnwlmgh npnpdwl inkun < nnuh 229200 8 1833,6
hwdwpwdn
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33691162 Cobas e 411 Elecsys 2010 kiljuhu Yjhtiuty 9< unnup 21900 1 219
33691162 Cobas e 411 Elecsys 2010 Eibluhu dplpnlynbuntibn < nnih 0 2 0,0
33691162 Cobas e 411 Elecsys 2010 £ylupu dhlypnlynubutiy < wnnup 41300 1 413
33141100 Cobas e 411 Elecsys 2010 Eiuhu Swypwnhpubip < wunith 0 3 0,0
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0 4000 0,0
33211130 wowdnt Q< phup
33211130 tuntuntipng CHOLESTE!:(SJL fb::::hnm fununtiphtp pbup ac b 18 2000 36.0
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33691873 Funn wqup < g 0 2 0
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33691163 Cnynjwnwihl wqwp L ) 0 60 0
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33691163 Uwlhun wnuwjht wqup < g 0 3 0
33691160 Syniynqui A< g 0 1 0
3369116 <bihynpwlintip phiup < hwin 0 50 0
33691874 Ughiinwuwn wquwp K Ug 0 1 0
33691872 Uuw whbyunnbwihl Ywd snp ulinignn wqup G Yg 0 1 0
33691163 Euwnbipniyny wqwp < g 0 1 0
33691163 Yinunphnhnud wqup A< Lg 0 1 0
33691163 Unphihph ptiup wqup < Lg 0 1 0
33691163 XLD wqup < [ 0 1 0
33691162 Owunnfuhu nhuly LS hwin 0 100 0
33691162 Puwghwnpwght nhuly L hwwn 0 100 0
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Udopuhghiht+Yjwyniiwpeny
Lwlwphnuinhlwqquyunipywl uljwywnwlutp/
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Sb&nifiunibi < hwn 0 200 0
Cwlwphnunhljwqguwjunipywl uwywnwlubp/
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33121270 Lwlwphnunhlwqquyunipjwl uljwywnwlutip/ ac Wil 0 200 0
Lhinpnnipwitinnh
Lwlwphninhlwqquiunipjwl uwywnwlutip/
q< h 0 200 0
33121270 Ephunnihaht wn
Cwlwphnunhlwqqujuntpjwl uljwywnwlutip/
33121270 < hwn 0 300 0
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Lwlwphninhywqqujunipjwlulwlwnwlutip nhulytp/
hi 0 200 0
33121270 Uilhliiihts L4 win
33121270 <mumphnmhuung:wjummwhuuuwn{mnwuuhn/ ac i 0 200 0
wnpwahlyh
Lwlwphnnhlwqguiunipiwl uljwywnwlutip/ 0 200 0
33121270 Yunwihghl < hwwn
Cwlwphnunhuqgwiunipiwl ulwwnwlutp /
33121270 < hwwn 0 200 0
bnudnihght
33121270 Lwhwphnnhlwqqujunipywu uljwwnwlutip/ ac hwwn 0 200 0
Cwlwphninhly %n%mmm;‘ Yuwnwyubip/
wlwphninhlwqgquiunipjwlulwywnwyubip 300 0
33121270 Un-unnhdnbuwan < huwtn 0
Lwlwphninhlwqquyunipjwuljwjwnwlubp/
< h 0 200 0
dasae dulynohght e
Lwlwphnuinhlwqquijun pjwbulw]wnwljutip/
B2 h 0 100 0
33691162 Bhbmnhumil < wn
Lwlwphnunhywqgwjunipywluywlwnwlutp/
< hi 0 200 0
33691162 Pinpuidtuhlng wun
33691166 Uhgulwin brgweunwby 9< g 0 1 0
33691888 i gy 9< g 0 1 0




33691166 hnt gh6niy <L hwwn 0 1 0
33691166 2np 2hqbinquujht wnunppgywd whunnpnahy 2tind ac huitn 0 ]
;A nr:.mh uwahuih nbwlghwih hwidwp 1-V1, sonnei
nn 2hqhinquiht wnunppgyuwd whunnpnohs sheinty
33691166
wayinunhuwghuwih nbwyaghunh hwwp $itiputtiph -V e huin 0 ! 0
2nn 2hqbinqujht wunppgyws whutnnpnghs shniy
336911
369166 | uqununhbughush nbuwlghush hudwn $ibputlsnh Lt whyy | 3 [ PN 0 ' 0
2 b
33691166 nn 2hqbinquihl wiunnpgyud whunnpnghs 2héniy ac i 0 1 0
wayinunhuwghwih nbwyghwih hwdwp $ikputitiph 11 )
33691166 2nn 2hgliinquht wunppgywsd whunnpnghy 2hénd ac huwn 0 1 0
wajinunhuwghwih nbwlghuwih hwdwp $itiputitiph 11l nhwy
2nn 2hqliinquipt wrunppgyuwd whuwnnpnghs 2héndy
336911
% | waynunhwohuih nbwlohuwi hwdwp $bpuboh uip34 | ¢ | hwn : ' )
2np 2hqbiinquyht wnunppgyws whunnpnhs 2hénty
83631100 wgyinunhtwghuih ntwlghuwih hwdwp $ipubbiph tudp,6 o b 9 1 0
33691166 2np 2hqbiinquihti wnunppgUws whunnpnhs 2hénty ac iR o 1 0
nunhbwghwih nbwlyghwih hwdw Lipuub {
2np uwdnubinquiht wnunppgywd wiuwnnpnohs ohtndy
33691166
waynunhbwahuih nbulahuih hudwn ABCDE W% | o 8 L d
33691166 2np uwdnubiinquiht wnunppgyws whuwnnpnghs 2htniy ac fiiin 0 1 0
wgyinunhtwahwih ntwlghwih hwdwp 04
33691166 2np uwpdnubinquiht wnunprgywd whunnpnahs 2h6niy qc P 0 i 0
nunhtwghwih nbwlghwih hwdwp 09
33691166 2np uwdnubinquiht wnunppgywd whuwnnpnhs 2hénly ac i o 1 0
nunhuwghwih nbiwlghwih hwiwp 012
33691166 2np uwdnubinquiht wunppgywd wrumnnnzh;. 2htnly ac huitn 0 1 0
wqynunhbwghwih ntiwlghwih hwdwp Hi
33691166 2np uwdnubinquiht wnunppgywsd whunnpnhs 2héniy ac i 0 i 0
waqynunhuwghwih nbwbghwih hwdwp H gm
33691166 Eobippfupng wiuwnnpnghs ohénily 026 < hwwn 0 1 0
33691166 Egtiphfuhng_whuwnnpnohs ohénly 055 < hwun 0 1 0
33691166 Eatiphfuhng whuwnnipnphy oh6indy 0111 < hwun 0 1 0
33691166 Eotiphfuhng whuwnpnphs gh6niy 0157 < hwn 0 1 0
33691162 Lbhynpwlwnbphiw whinphh phiun < wnih 0 2 0
33691162 Eunbipnyhpnish phiun < wnnith 0 2 0
33691162 Ppnigbingh nhwgqunuwnhynud < hwun 0 2 0
33691162 Unununilyingh  pbuwn < hwwn 0 2 0
33691162 Eabippfupngh phiuw ( E. coli 0157:H7 ac i 0 2 0
hwpnuwpbiptijng hwdwp)
33691162 Lwwnphnuh pinphn <L g 0 1 0
33691162 Uywywnwlubtin opuhnwquyny < hwwn 0 200 0
33691162 Bwquph snp wwqlw < wnuh 0 1 0
33691162 $hpdblinwinhy whunnl < g 0 1 0
24211140 0G-6 poowyhts utiply Ynjwynghianinghwih hwdwp 500d; < (hip 0 2 0
24211140 Lbdwwinnpupiht <wphu-poowiht utiply 5004 <L |hwinp 0 2 0
24211140 Minthppnd EA-50 poowyhu Ltipl Ynpwnghuninghwih hwdwp ac ifiip 0 2 0
5004y
8-nbi hunwynig npnadwl phiup hwdwpwdnt ooy
33211250 nkwlnhe i 9 nnn2dulll paup P ac 0 5 0
cobas c11l
wnuh
33211250 CFAS wpnunbhu cobas clll < 0 2 0
funnnywubip bwhiwwbicdwsd nbwgbunubph dbg 0 10 0
S363na2 wtinwnpbint hwdwn cobas cl11 hwdwp i woup
33691420 Uuh yn|aye XP-300 < hwin 0 5000 0
Suyihsh pnine Lwhiwnbuwd
33691160 q< nnuh 0 100 0
cobas c111 uwpph hwdwp
33191310 Upjwt bdnpwndwy Jwlnwwiht thnpdwlnp < hwn 0 5000 0,0
33211280 Ppnigbiingh npnadwl phivp puin Nwype hutinkiiunuh 24y uu hwun 2800 2 5.6
24321860 Ugnunwljuil ppnt uu {hinp 2500 2 5,0
24321240 U-puhir Lwswiuymp Uu hunp 38000 2 76,0
Ufunwhwuhg hbnniy unipor /nhnbghinhdbphiwdnupnuh
24451141 pinphn(UU)- 3,5%, N,N-phu-(3-L.dhunwypnwhynnntighjwdh - uu lhwp 10000 12 120,0
55% (3 nnumn®) -
24451141 Uhuitnwhwuhs henniy bynos S/ FHnunwpwinthhn 20% Uu it 19800 n 237.6

fuuwwlinip




v

y
Ubphi-wnih (opuhthy ) winthnuwh wpnuhntun- 7
tnihhbpuwdbphibphgnuwshnh hhnpnpiaphn, tintughuwyht
24451141 Ul (bt ! UL | fhuap 14000 8 12,0
wdh[wqw,wpnmhwqw),dwuhnhnqujhb wlwhy uynyptin
Ufunwhwlhy hEnnd lﬁmphn /qFlh;\gh[qhuhphlwdnhhnldh
24451141 RInnhn- 2,2%, NN-phu-(3 wdhhmqnnu;h[)r}nqhgh[wdhb -5% uu lhwp 8000 8 64,0
(Ui ?
24311530 Qpwdlip whipopupn uu {hwp 1000 30 30,0
33691162 Umpndwmnlw]th»WH XP-300 uu hwwn 40080 2 80,2
33651143 Unwppnt Ul [hun 2500 1 25
24951400 hudtpuhnl jnn 1000 uu huwn 4500 5 05
33121270 Lwlwphnuinhluyh ulwywnwlubp uu hwwn 25 2250 56,3
33211500 <bjhynpwlyntip uu hwwn 1000 25 25,0
24321250 Luhin; uu lhwnp 2500 40 100,0
24211150 Inwlyniptip hhuwnninghwluwt uu hwwn 9000 4 36,0
24211140 Zbdwinnpupyht Jil 11 uu {hunp 28000 2 56,0
24321311 hanupnujhy uwhpin uu |huip 2500 20 50,0
33691163 Eunnwqup uu g 60000 0.5 30,0
33691874 Uquip dwlhuin-wnuihu uu g 47000 0,5 23,5
33691879 Uqup Ujnyjbip <hupnup uu lig 66000 0,25 16,5
Cunwdbup 39165,5
HPELULYUL MhSNR3LLEP L HPUUGL3ULUSPL L3NRERGR, uureudnrnruLer
30197620 feninp, A4 $npdwinh 1/21x29,7/ 9< hwun 1600 550 880,0
35821400 “Hpnglibip uu hwin 6000 6 36,0
30192739 faninp, A4 $npdwinh gniiwynp uu hwin 1500 10 15,0
30192780 Eowlpw uu hwn 300 100 30,0
22811190 Vwihunwpwluwy qppnyp uu hwn 100 400 40,0
22851200 fFnpwwwuwlubp, npuntin pnpbipp dhwgynid tu onuwlubipny Uu - 1000 25 25.0
U pnph wdpwlubin/td/
39263200 Spwubilywlwihu ghpp uu hwwn 1200 20 24,0
22851200 Fnpwwwlwl uu hwin 750 30 225
22851200 (Inpwwjwbwl uu hwin 400 50 20,0
22851200 NRWWwhwl uu hwn 200 50 10,0
22851100 Upwquljwputip uu hwin 180 160 28,8
22851200 (npwwywlwl, wnihdbpught pPwnwup, $uy uu hwun 13 12000 156,0
30197220 Ywnhsubip, dhusl 20 RPRN hwiiwp uu hwn 650 10 6,5
30197220 Uwnhgubin, dhtisls 20 plipphg wyby uu hwin 1600 5 8.0
30192111 fGwliwp, pnwduyh, pwpahlh uu hwin 400 50 20,0
30192121 Sunhlwinp gphy uu hwin 100 1200 120,0
30192125 Uwnlbplitip Uu hwin 200 50 10,0
30192125 Uwwnhinubip uu hwn 100 400 40,0
30192133 Uphsubip uu huwin 300 30 9,0
30192160 Suphfutibip uu hwn 250 150 37,5
30141260 Sundhs-npwiwplnuight Ubipbuwutiph dwwwtutbp uu hwtn 150 1000 150,0
30192100 Ml hwuwpuly uu hwn 100 20 2,0
30199710 Opwpubip uu hwin 15 4000 60,0
30197100 Ywinhgh dbwnuwnuwiwnb Guubp.dn uu huwtn 100 200 20,0
30197112 “wphsh dbnwnwupb Ywuwbip, dhoht uu hwn 200 200 40,0
30194810 Luwlnuubip uu hwin 200 20 4,0
30192210 Mn(hdbipwht hupluusnit dwwywybl, 4800x1000 uu i 1100 2 2.0
ntunbuwlw, jkd
30192710 Unubdwiwwnhw, qnwubilywluwht uu hwn 400 400 160,0
39141100 Uduwgpbiph nuwpuwlutp uu hwn 4500 5 2,5
30141200 <w21{wuwpp,quuhujml|uqhh uu huwwn 4500 5 25
30199400 Unubidwiyuwnyws Guwd Yuysnit RNNR uu hwn 200 30 6.0
30199400 Unulidwwywuinguws Gud Yuysnils pninp uu hwwn 250 30 7.5
30199430 3ninp Upnudubiph, npgulubipny uu hwwn 1500 50 75,0
22811130 Opwintitnp uu hwuwn 3000 10 30,0
39263600 'i}mwmmlh,qnwubujquhu Uu hwwn 600 6 3.6
3019211 fdwiwph pwipahlubip uu hwn 350 10 3,5
39221490 Uyniuqubip uu hwn 300 10 3.0
39111140 Upnn uu hwn 12000 10 120,0
39111180 Upnn gpwubljwluhl uu hwwn 80000 2 160,0
39111180 Upnn gpuubilywlwihl uu hwtn 30000 16 480,0
Cunwdbup
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24451141

Uluuinwhuiung_dhgng 1; < hwtn 700 200 140,0
39831280 Uwwlh dwppbynt hbinniy < hwin 400 300 120,0
39221410 Uyl < hwun 1050 20 21,0
39221400 Ut — uwgnly q< hwin 3000 90 270,0
39221350 Pudwlw dhwigudjw oquiwgnpdiwl K hwn 9 8500 42,5
39224331 Ty 10| < hwin 700 10 7,0
39224331 Ty 5( 9L hwwn 500 10 5,0
39224333 Ty dbnwnyw / ghuwywin 10 | 1Y hwn 1500 12 18.0
39713410 iy 2wppuyng a< huwin 4000 10 40,0
Pamnoo 2niqupuwlih pninp 9< hwin 100 660 66,0
33761100 2niquipwish pring 2 sbpn < huwn 150 3600 540,0
39221420 2niquinwh funquitiwly < hwwn 800 120 96,0
33761400 fenpb wudtinnghl tinlpbpun / - wal 21 ud/ K hwn 800 450 360,0
39513200 f3npl uwywl hhywlnh hbnwgnndwl < hwin 3500 60 210,0
33761300 fanpk upphy funhuwiingh 2 shipin < hwwn 350 500 175,0
39831283 Pupluwwipphy nnyjh onp- 9< hwin 500 50 25,0
39831243 _Luwgph tngh < [ 800 750 600,0
39812410 Ywhnyph jwp < hwn 700 12 8,4
39221400 Ynnun 1| < hwin 600 40 24,0
39713410 Swnnuwly dwppnn hUpUwidwpphs nny; /puwiinn/ 9< hwun 8000 35 280,0
39831283 Swunwlh jwp Pwipwlyw < hwn 1300 120 156,0
39835000 Swinwlyh thuyin 9< hwin 1200 40 48,0
39831246 <binnily own 9< [huip 500 1000 500,0
39831246 <binnily obwn 0,33 9< hwtn 500 10 5,0
18141100 abinung ntnpub 9L hwn 250 1100 275,0
39831241 Qlinph obwn < hwin 220 350 77,0
39221400 Uhlpn$hppw < huwn 400 10 4,0
}isslsoo Juwdnunph gnpg q< hwin 2500 10 25,0
34921440 MNwundwub nwppw Yuihwiphgny / Yynp funpp 80; < hwun 7000 4 28,0
34921440 Mwuindwub nwppw Yuithwphsny /puinuitlyni 10 < hwn 2300 15 34,5
34921440 Mwundwub nwppw Yuihwphsny /pwnwiilynit 2 9< hwtn 700 5 3.5
34921440 M Jwubi nwppw Yuithwiphsny /puinwibilyniy 40; < hwn 4500 5 22,5
39221400 My Jwub nwppw Yuihwphsny 60 < hwn 7000 14 98,0
19641000 Mnihtphibuwhu wwinl pushntih 60 < hwwn 200 1000 200,0
19641000 Mnjhtphbwhl wuwpl Rwthnup 120 < hwin 300 50 15,0
19641000 TMinjhtphibuwht wuwply/ wnph wwpl 30 < hwin 300 1150 345,0
39831246 Uwuhwlgnyg Jwpnbijnt nwiupw < hwin 330 820 270,6
33721100 Uwithpbine wdtigh < huwin 150 2000 300,0
39221400 Ubnwup jwp < hwin 150 100 15,0
39831278 Uwjwuph ywguwl htinndy K (hup 350 2250 787,5
39221490 Ywniug wynuwihuts dpiny/ vbnwnwlw uyniug < hwwn 150 330 49,5
39831240 Linp /ity < Lhwp 130 6500 845,0
39831240 Rinp 1y /duty Q< hwun 250 200 50,0
39811300 Onh pwpdtignighs 9< hwn 450 220 99,0
24961200 Pinp i uu huwin 150 660 99,0
39831210 Uwwup 4. htinnuy 1y uu hwwn 300 333 99,9
39831240 Uuwuhwgnyg duwpitnt Uhg nwhupw uu hwtn 300 330 99,0
33761100 2niquipwbih pninp 2 2tipin uu hwwn 150 665 99.8
33721100 Uwihpbijnt wabih BIC uu hwin 130 765 99.5
39513200 fdnpb uwdwl hhjwunh hbnwgnindut uu hwn 3500 28 98,0
44611130 B pYwduh funbiwwgnighg uu hwn 6000 100 600,0
44423680 (FpYwdlwhu hwidwlwpgh dwu (dwhuuwgwih) uu hwwn 28000 25 700,0
18531100 Lybpubip uu huwn 3000 333 999,0
39831243 Lywgph thnph uu g 800 100 80,0
31161240 Ynunuwlipstbp uu huin 145000 3 4350
38311100 Blinpnbuwghl Yptinp Uu hwwn 1960 1 2,0
39515440 Sipnwywpuwgnyp nunwhwjwg uu v’ 6500 76,45 496,9
39515420 Stiprnwywpwgnyp ninnuwhwjug uu v 15000 8 120,0
42911180 Fpywduh Supwlwywth quihs thwlwtny uu hwin 290000 1 290,0
Cunuwiblp 11619,0
<UVULUrShLEP, CUUULUFGU3PL UurLeudnrnrULEr L MUPUSULER
30211230 Swdwluwinghs |pwljwqu wnwug dntpuinp 9< hwun 0 15 0.0
30211230 Cwidwlwnghy |pwljwqy wnwlg dnbpinnp < hwn 119840 9 1078,6
30237490 Swiwluwngsh dnuhunp < hwwn 38940 20 778,8
30239170 Puquiwhniilighntiuy 1wqtinwihl iujhs / guiliguyhl < hwuwn 230000 6 1380,0
| 30239170 Puqiwbniilghntiuy lwqbipwihti wnughs / ng guiigusht < hwtn 110000 3 330,0
[ 30232231 Cwidwlungsh Yngun ulwywnwl /4T8 Q< hwwn 40800 2 81,6




32421100 Swliguiht dwinifu cat 6e < dbunp 0 2135 0.0
32421100 Suwiligwjhl dwinifu cat 6e < dtivnp 128 1220 156,2
31321110 Stuwlughlh duwynifu < ubinp 0 1000 0,0
31321110 Stuwfughlh duynifx G< dtiip 152 500 76,0
31321110 Uibhwwph dwinifu < dbiinp 0 300 0,0
44322300 Lbnwfunuh dwinifu < dbitnp 55 500 27,5
32551150 Luwthnnh juip < hwn 300 20 6,0
30237132 Suyhsh wp (USB) < hwn 1500 15 25
32421300 WiFi uwpp < hwin 6000 10 60,0
30141380 RFID shuy < hwin 300 200 60,0
30141380 RFID shuy Swjuwgpynn < hwtn 400 200 80,0
30216200 RFID shuh Swjiwgpnn uwpp K hwwn 14000 1 14,0
30141380 Ricoh325sfnw pwppphoh shy < hwwn 0 10 0,0
44322200 Lwdwlwpgsuht uuniguwl uwppht Uhwgnn dwinifu (220v) Q< hwun 348 100 34,8
30237112 Swdwluipgsh hnuwtph ubinigdwl uwpp < hwwn 4380 20 87,6
32421300 Swlgwyhu Pwdwlwpwp < hwin 3900 20 78,0
30197231 Hhulh Huy < hwtn 96 5000 48,0
30237460 Uwntinuwguin < huwin 3000 20 60,0
30237460 Uwnbinuwpwp wiywn < hwwn 8760 3 26,3
3023741 Cwdwlwngsuyhl yupl < hwin 1560 20 31,2
30237412 Swidwluwngsuihl dyupl wlwp < hwn 3600 3 10,8
30232231 Yngun ulywywnwly SSD < hwtn 8199 10 82,0
31681150 <hgnnnipjwl hlypnufubtw 24C32 < hwwn 1000 10 10,0
30237113 Rj45 4nubiljinnp < hwwn 21 1000 21,0
30237111 Ubiniguwl wpinling 9< huwin 12800 3 38,4
31151120 Ubhuiwihwl utngduwt uwpp < hwin 48800 3 146,4
| 30232231 Upwnwpht Ynpin ulwywnwl < hwin 51000 2 102,0
32324900 <bnnwinwgnyg < hwn 51000 20 1020,0
31221270 Ujbhwywph puidwitiwput 9< hwtn 2200 5 1,0
31221270 Ujhwywph dhwgnidubip < hwn 200 30 6,0
31221270 Ujbhwijwph shwgnuubp QL hwn 200 30 6,0
44322100 Uwiniju hwidwlwpgsh, UTP cabel uu dbitnp 190 305 58,0
Cunwdbup 6028,5
Chuwpwpnipywl by oquwignpéynn quibwquit wypwbiptibip b yympbp
44111412 Utpngn| bl 4< | hun 800 50 40,0
19121700 Uphbunwlwl Yuoh 9< qd.d 6000 30 180,0
39837000 Uyty wnsny / puilh < hwn 2500 10 25,0
44511110 Pwh funpp < hwn 1500 3 4,5
42415220 Plinbwuwwy < hwin 18000 3 54,0
42415220 Plintwuwywih wupy < hwwn 3600 3 10,8
39241130 “hulwlubip pneh < hwn 1500 10 15,0
39241130 “wuwlubip pnph /tqyh/ K< hwwn 40 300 12,0
42121270 “thunwhnph wnduy Ynyninny/rybunnbiii F50 < hwun 75000 2 150,0
44221141 “tnwl pnbwl < hwn 1200 30 36,0
44423100 Tnwili quiig biblunpulu < hwn 2000 2 4,0
44521120 “Hwl thwlwl bdpnnnwt < hwn 3000 50 150,0
44521121 Vnwts hulywbh dhontly 8 ud < [ Thumn 2500 70 175,0
31711160 Ehinpnn ubipdh K wnuh 300 30 9,0
31711160 Eiiyinpnn 2,504 < hwwn 40 150 6,0
31681900 biblinpwlwl winuhs (nnty) < hwn 40000 1 40,0
44423680 (3pYwdbh wpgquynphs K< hwn 8000 10 80,0
30192232 Pupliwljusniy dwuwwybu (oht.) < hwtn 600 20 12,0
44820000 Lwp Yunwpulbipf < g 5490 5 27,5
44423680 LU ohbwpwpuwlwy < hwtn 1500 5 7.5
39299320 Lnqupwih huytijh wnwlig opgwiiwlh < hwn 5000 5 25,0
44831500 Lnidhs 5¢ < hwin 5000 4 20,0
44411300 Ljwgwpwl < hwn 25000 S 125,0
44423680 onuh biypn nnwu 9< hwin 700 100 70,0
42131470 Onpwlh dbwn. dwubip K hwin 1490 8 1,9
39132220 [T 3< | hun 200 60 12,0
39151220 “whnyph dwubip /wipy Ywhnyph/ < hwin 200 100 20,0
39151220 Ywhnyph dwubp Jwillynibwly bplwpjw thnpp < hwun 40 100 4,0
39151220 Ywhnyph dwutip /pnuwly/ < hwun 300 30 9.0
39151220 Ywhnyph Jwutip /nuwpwlwwwhhy/ 9L hwin 1500 30 45,0
39151220 Ywhnyph dwubip /nup/ < hwtn 300 100 30,0
39151220 Ywhnyph dwubip /nunp/ < hwin 1100 50 55,0




39151220 Ywhnyph dwubip /hwljwt/ K hwn 500 70 35,0
44521100 Ynnutip < hwwn 2000 3 6.0
44531193 Yngnupnt wbilyniwly < hwn 700 20 14,0
44163200 Ynjnunnt wgnuy < hwwn 700 6 42
44163200 Ynjninne bnwpuifuhy 9L hwin 1000 9 9,0
44163130 Ynynunt funnngwly F110 0,25 6 2200 < qdu 450 5 23
44163130 “nyninne funnnyuily F110 0,250 1,500 < qdd 300 3 0.9
44163130 Ynyninne funnnyuily F110 0,5 4 2,500 < qdu 900 5 45
44163130 Ynjnuynt funnnguily FI10 1 4 2,500 < qod 1500 5 7,5
44163130 Ynjninnt funnnywly F110 2 4 3,204 K qdd 2700 5 13,5
44163130 “njninni funnnywly F110 3§ 3,200 G< qod 4000 2 8,0
44163130 Ynjninnt funnnywlyy F50 0,34 1,504 < qod 280 3 0,8
44163130 Unynunt funnnduwly F50 0,56 1,500 < qdu 350 3 1.1
44163130 Ynjninni funnnyuwly F50 101,500 K< qdu 550 3 17
44163130 Ynynunt funnndwl F50/2 1 g 9< qdu 850 8 6.8
44163200 Ynjninnt fugw < hwwn 400 4 1,6
44163200 Ynyninnt dnipin < hwin 320 6 1,9
44163200 Ynjninnt nlthghw F100 9< hwwn 2500 5 12,5
44163200 “njnunnt innnu 5 dhnpwling < hwun 2000 2 4,0
44112730 “inpnn ulwywnuwy K hwn 700 50 35,0
44511700 Swppwonipp q< hwn 2000 4 8,0
24911300 Lbinnily dbiju < hwin 800 20 16,0
44831300 Lbipdbnhly wyunnlugh gbipdwluyniu < hwn 1000 10 10,0
18141100 atinting pubidnpwluwl < qnyq. 300 100 30,0
39839300 Auili phwl < hwn 5000 6 30,0
39541170 Bnuwwl e dbinp 300 70 21,0
24911500 U%D unuhtia 100q < hwn 2000 30 60,0
44191700 Ubup 5 4 < hwn 2000 3 6,0
9211620 3nuin 2 nwlnwp 1 K hwn 2500 3 7.9
44423680 Lwuwinlyuw $hgninup < hwn 300 10 3,0
44111413 Lbinly wgbinnuwyht hhupny bulhu Yu hwdwpdtip < bg 4000 25 100,0
44411740 L ynup < hwn 35000 5 175,0
44411740 Luunwlnbph uy. Ywihwphs K hwin 4000 50 200,0
44411751 Luwnuwlynuph oph wnwpwih Ynduytiljn/puniyh QL hwin 5500 60 330,0
44521100 Cyligwp nnwu < hwn 10000 10 100,0
42131100 MNuunnthwh thwljwl /bypn < hwin 600 100 60,0
44423650 Nuilyih wnihdtipwhl (nbnput dwwwybuwptitin) < hwun 600 20 12,0
31221242 M nynuykiy /60*40 < hwin 6 1000 6,0
44163121 Mi._funnnguwl F20 $niquywuuin K qd.d 500 40 20,0
44163121 MN|._funanduily F25 $niquywuuin < qd.d 710 40 28,4
44163121 M. funnnyuwl F40 $niguywywin 9L qd.d 2000 12 24,0
42661200 M bunnnywljh gnndwt uwpp < hwn 20000 1 20,0
44531191 TNnudjw funnndusly 0,800 < qau 1500 60 90,0
4453119] TNudw funnadul 0,224 < qdu 4500 120 540,0
44163200 Mnu&jw funnnywlh wulyniuwly 90, 0,844 < hwun 500 20 10,0
44163200 MUudjw funnnyuwlih wlyniuwl 90 , 02204 < qou 800 25 20,0
44163200 MNnu&jw funnnquwlh tnwpwituhs 0,224 < hwwn 1500 6 9,0
44163200 Mnudjus funnnywih tinwpuituhy 0,801 < hwtn 1500 10 15,0
44163200 Mnudjw funnnywlh gnndut wnhuyny < huwwn 400 30 12,0
44163200 Mnudjw funnnywiyh Ygwidwu 02200 < hwin 500 50 25,0
42121150 MNndy < hwin 16000 9 80,0
44191700 _Ming piniugh 9<_ | hun 1200 20 24.0
44191700 Ting pwhh 9< | hun 1000 5 5,0
24911200 MYU unuhld 0,9Yg < hwun 1500 S 7.5
44531160 Mununwly/ cemeuxa < hwn 3 2000 6,0
44511330 il Ywhwlp hwywpuwsnt < hwn 8000 5 40,0
42131170 Qbnnigiwl thwluwu < hwn 1500 85 127,5
39721510 Spwinwpuwgnighs 9< hwin 50000 2 100,0
42131170 Qph hwljw / 3/4 < hwin 2000 10 20,0
42131170 2pp thwlwl /wnln < hwn 2000 30 60,0
44411110 2ph fuwnbhswiht dnpwly 1 nbinuuh < hwn 3000 100 300,0
L 44411120 2ph dnpuiy biplynbinut < hwn 10000 30 300,0
44411120 2ph dnpuwily biplntinuish wwuwh Ypwgh < hwin 10000 20 200,0
44163170 IHanhUb - funnndul dhqunqdu.ldpqumwb 6lnn, tiny 60 ac qdu _— 150 150.0
u
44163170 Mttt funnnyuly uhihlynuhg G< qdu 600 100 60,0
24951130 Uhihlyns 2804 pusthustighly < hwwn 1000 120 120,0




[ 30192233 Uhihlyntibs pupwly annply < [ hun 150 20 3,0
42131490 Uh$nb/ iplwpny 9< hwn 1200 100 120,0
44191700 Uihpb-puntp nihytipuwy < hwun 3000 2 6,0
24911200 Unuhua kunpuhn 6 o) < | 1000 5 5.0
24911300 Unuhté Uwhphp Yuu hwidwpdtip < | 2600 2 52
24911500 Unuhud pwph 0,84q. K hwtn 4500 2 9,0
44192100 Ppthnu phbwpwpwliwl 8500 A< | hun 2000 20 40,0
42511124 Onwgph Swnwowp < hwwn 800 25 20,0
39714100 Onwthnfuhg K< hwin 7000 4 28,0
44511330 Bl wy Ywhwb 20V < hwn 40000 3 120,0
44511370 =] u.,mnlmtuqu.lhwllh 9 Ehyhbp G hwn 400 10 4.0
43121190 <npwnhs < hwwn 50000 3 150,0
44511400 Lnpwinhsh quiihlnu F5 < hwwn 600 10 6.0
44511400 Snpwnhsh quy hlynt F6 9< huwitn 800 10 8,0
44511400 Snpwnhsh quyihlint F8 < hwin 1000 10 10,0
44511400 <npwinhsh quyhlynt F10 < hwin 1200 10 12,0
44511400 <npwinfish quyihynt F12 < | hun 1500 10 15,0
31641217 ndpbh ubnduwl F16 4< | hwin 20 200 4,0
31641217 Sndpbh ubndwy F20 < hwin 25 200 5,0
44511100 Utinwnh dypwin < hwn 3000 3 9.0
44511370 huwpunngutiph hwiwpwsne < hwwn 3000 2 6,0
44191700 (3pqwdlih Yunqunphsh Shownhn < hwun 100 100 10,0
44411110 2nh dnpuily dbly nbnwuh 9< hwn 3000 100 300,0
44191700 Ulpunn wywuinhly funnnquwiiubip Yunptyne Q< hwin 5000 2 10,0
44191700 Luwnwlntiph gnppt K hwin 2000 10 20,0
44112800 Slywfunnniuily < | hun 1000 40 40,0
31683400 Mwuwnhl funnnywiyh Ygwiwu / bnwpuitupy 1/2 < hwn 100 50 5,0
44163200 Mwuwnhl funnnquilyh Yguiwu/ wllynibwly 90° 172 < hwn 100 100 10,0
44163200 Mwuwnhly funnnyulih Ygwdwy/ wugnui 172 < hwwn 50 100 5,0
44163200 Mwuwnhl funnnyuwlih bgwiwy/ whlyniuwl 45° 172 Q< hwun 100 60 6,0
31683400 Mywuwnhly funnnywyh Ygwdwu / bnwpwofups 3/4 QL hwin 150 30 4.5
44163200 Mwuwnhl funnnywlh Ygwiuu/ wlynidiwly 90° 3/4 < hwn 100 50 5,0
44163200 Udbphywilyw Wiwuwnhy funndwlh 1/2 /dwidw LS hwn 1000 30 30,0
44163200 Udbphlwbliw wjwuwnhy funnnwlh 3/4 /dwiw < hwn 1200 20 24,0
44163200 Mwuwnhl funnnywlh Ygwiwe/ ZL 172 F/dwdw < hwn 500 50 25,0
44163200 Mwunhy funnnywlh Yguiwe/ wugnud 1/2 F/ dwidw < hwun 400 50 20,0
44221141 “Hwl pnbiwl wyniihtb K hwtn 6000 15 90,0
44221141 “wb prbiwl biplwpe < qnyq 3000 10 30,0
44521120 Tl thwluith Ynduybln thuwjinyw K hwun 10000 10 100,0
44531110 Mununwly thwjnh 50 du < hwn 10 1000 10,0
30192230 Uyns tiplynndwuh < hwn 1000 20 20,0
31221241 "hnipbi| ghwyuts unywpwpnpeh/ nnin < hwwn 30 1000 30,0
42418100 Ubpbjwlh bt uu dbiunp 1050 152 159,6
44221140 Uynuihubi phipdnlwidpgwlny nnin uu v’ 120000 4,8007 576.1
44221100 Uynwihub plipdnjuiipeuwlyny wwunnthw uu v 90000 4,1966 3777
44221100 Ubnwnwuyjwub ywinnthut uu hwn 25000 1 25,0
44221120 Uyt hwpbip biplptipn uu I 10000 2 20,0
44531191 hunnnywy funputiwpnusdl uu v 1100 90 99,0

Cunuibp 7860,4
ELEUSPULUL UUPLUYLNPNRUTEDR, MUCLUIULEP, SNPOPLLGP
31531660 Lbn jwdy E27-30W < hwin 730 30 21,9
31531660 Lbn jwdy E27-50W < hwn 1380 30 414
31531660 LED jwdw ubpnpynn < hwuwn 1200 50 60,0
31531660 LED iy Ubpnpinng a< huwin 4167 300 1250.1
31531660 LED (wiw wpinuwpht ac huwin 6400 300 1920,0
31531660 LED |wiy wpunwpht 9< hwtn 1850 30 55,5
31531660 LED (wdyy wpunuwpht < hwwn 3810 70 266,7
31531660 LED jwidy < hwin 410 150 61,5
31531660 LED iy < hwwn 1080 100 108,0
31531660 LED jwiwy < hwtn 280 300 84,0
31512300 Lwdw gbipbljwihl < hwuwn 600 50 30,0
31512300 Lwdy gbiptiluyh 9< hwwn 1800 50 90,0
31531210 LED |nwwwini 220V 100W 9< hwin 4800 10 48,0
31531210 LED |nwwiwnnt 220V 150W < hwin 8496 10 85,0
31531210 LED |nwwinnt 220V 60W Q< hwn 3300 60 198.0
31531400 LED pwh 220V 120W < hwn 85000 2 170.0
31512300 Cwingbil iy 24V/25W < hwn 7000 10 70,0




31512300 <wingbiu jwiw 22,8V 50W,G6.35 9< hwun 19000 10 190,0
31512300 Cwingbl jwiuy 24V 25W, G6.35 < huwin 14500 10 145,0
31512320 Pulyntiphnghn, wiy < hwin 2400 50 120,0
31512321 Pulntiphnghn jwiyy < hwin 4800 50 240,0
31512320 MHaghigynyywinnp 9< hwin 75000 20 1500,0
31684400 Ywpnwl Tinbin 9< hwtn 300 30 9,0
31684400 “wpnuwl 1nbin hnn. < hwin 240 50 12,0
31684400 Ywnnuwy 2inbin hny. < huwn 500 30 15,0
31211221 Upunwpht wtigwinhy Tnbin < hwn 30 0,0
3121221 Upuinwipht wiguinhy 2unbin A< hwun 324 30 9,7
31211180 Ywhunyh wlgwinhg < hwin 150 20 3.0
39713510 Upnniyh obipdughty wlgwinhy 9< huwtn 1500 15 2,5
31211221 E| wwpwgnighsh wligwinhs 1 nkin < hwwn 500 50 25,0
31211221 £ tnwpuwgnighsh wlgwinhy 2 inbin < huwin 700 50 35,0
31211180 Utunnduin wtiguinhy indhs 220V 16A a< huwin 510 20 10,2
3121181 Uyunndwin wiguinhs wnyhs 220V 25A < hwn 480 10 48
31211182 Ugunndwin wiguinhy wnihs 220V 32A < hwin 480 10 4,8
31211340 <Lnuwuph Ywpguinphs 220V-110V 500VA < hwwn 12000 3 36,0
39715200 £ tnwpwgnighsh Jnunny K< hwtn 22200 15 333,0
39715200 b tnwpuwignighsh thsnyh < hwn 5000 10 50,0
42211140 hunhwiinguwhls wnwpwt ubpnpynn_4unbin wywlb < hwn 130000 2 260,0
39715100 Elyunpwlwl ikl < hwn 0 4 0.0
44423680 k| jwph bwjnwl‘w[ 1.5 Q< hwin 5 200 1,0
44423680 B wwph dwypwilywy 2,5 < hwn 5 201 1.0
44423680 Ep qwph dwypwluwy 4 < hwwn 5 202 1,0
44423680 £y jwph dwypwlus 6 < hwn 10 200 2,0
44423680 By jwph dwypwljwy 10 < hwin 15 200 3,0
31341200 b jwph Yibduhl 1,5 9< huwin 12 100 12
31341200 B jwph Yitduply 2,5 9< hwtn 15 100 15
31341200 £l jwph Ydupl 4 < hwn 20 100 2.0
31341200 EL (wph Yboupl 6 < huwin 30 100 3,0
31331280 b wp1x1,5 < dbnp 93 200 18,6
31331280 Elwp 1x2,5 < dbunp 150 200 30,0
31331270 Eljwp2x15 Q< dtiinp 135 200 27,0
31331280 Bllwp2x25 < Utitnp 190 300 57.0
31331290 b wp2x4 < dbinp 366 200 732
31331280 Ellwp3x25 < dbunp 480 200 96,0
31331280 Eljwp3x4 < dtinnp 844 100 84,4
31685000 Gplwpwgdw hwnnpny |wph gifuhly 3 wnbin < hwn 630 40 25,2
31685000 Eplwpwgdwu hwnnpnwywiph gifuply 4 ntin < hwwn 870 10 87
31651400 Ubinwhs dwuywybu < hwin 150 300 45,0
44423671 Sndpti D16 9< dtunp 51 200 10,2
44423671 Sn$pt 920 < dbiinp 57 200 11,4
31686100 Gnwuhy hnnwlguwl Ynuwnipny < hwn 180 200 36.0
31211221 Swnduwl unhg (nwuwnghly) 220V 10A 9L hwwn 2480 5 12,4
31211221 bnun indhy 220V 16A K hwwn 1550 5 7.8
39714200 Onnpuwljhg uu hwuin 270000 1 270,0
Cunwdbup 8413,6
duntLhe
9132200 Pbughl, nbgniywp < hnp 510 16000 8160,00
9134200 thabijwyht Ywntijhp, wiiwnuwht < |hwp 0 6000 0,00
9134200 Hhabywjht Juntihp, wiwnwhl 9< {hwnp 540 2000 1080,00
Cunuwibp 9240,0
UdSNUGLELULLrh MUCLUSUUUUGD
31421100 Uwpunyng wyunndbpbuuh [ Uu T hwn | 40000 4 160,0
Cunwibup 160,0
U33463NPOULUL L3NKEBEP
24441100 Ugnunwght Ywpwpunwlnip uu e 250 50 12,5
44921200 Uhp uu g 200 30 6.0
33691147 ﬁ}nlhwbjmphp/pmbwphdhuwm uu lhinp 13000 7 91,0
Cunwdbtp 109,5
uchusuLLeusr
45231119 Chiuph dwutiwyh Ybpwlnpnquwl wpfuwwnwlplitip <PU npwyd 163160700 1 163160,7
45421110 1 AU T UGG prarnggeh UL | npwd | 997500 1 997,5
wnbinwnpnud, hwywuwpwlpnnu
4338ms Onnpwldwl hwiwlwpgbiph nbnwnpdwu woluwwnwliplitip gu nnwd 166000 : 1660




UwlBplnipwiht woluwinwliplbip fuwpwnny

45231185 o huatiph huswp uu npwd 300000 1 300,0
Cunhwlinip ) wpwpwhwl wofuwnatipttn/ ubilptipp
45221142 R— Q< npwd 1332900 1 13329
Cunwdblp 165957,1
OUNUSNKB3NRLLEP
79821170 Sujwgnuwlwl b wnwpdul dwnwynipyniubip < hwwn 3659000 1 3659,0
<hjwunwunguyhu uttiph h d, !
90521320 | <MUrulinguyf ’a“‘"‘"n bl L g [ 24840000 1 24840,0
— muswgnud
71351540 Stutihywluwl huynnnipyul Swnwynipjnitiutip < npwyd 770000 1 770,0
50111130 Uyundtipbuwbbiph Ybipwunpnguwl dwnwynipjnitiutip 9< npwd 4000000 1 4000,0
79211150 Uniphunnpuljuit dwnuwynipniu KL hwn 1440000 1 1440,0
79411140 Uwpnluwyhu nbunipulitiph Yuwnwywpiwy Swnwjnip)niu uu npwd 990000 1 990,0
79211210 Cwquuywhwljuwl Ybpwhuynnnipjniu uu npwd 990000 1 990,0
79111100 hpwywpubiwlut dwnwinipjniuiibip uu npwd 1000000 1 1000,0
75111200 Opbunpuwluts dwnwjnipni Uu npwd 990000 1 990,0
32411130 Cwiwguiug uu hwwn 936000 1 936,0
32411130 Lwiwgug uu hwn 60000 1 60,0
65311100 Bynpwluinipwl pwfunud uu npwd 85640000 1 85640,0
65211100 Swgh punfunid uu npwd 17700000 1 17700,0
65111100 hudbini oph puspfunid uu npwy 12000000 1 12000,0
64211120 Uhgpunwpuwiht htinwfunuwhu dwnwynipyniuubip uu npwd 1170000 1 1170,0
90511120 Ybugwnwhu wnph hwjwpwgpiwu dwnwyniynitiubip uu npwd 2700000 1 2700,0
[
50421100 G2l RGP TG s wpwhuul sl Uu | ppud | 6000000 1 6000,0
Swinwinipintilibip .
50111300 Uudwnnntph Ytpwunpnqiwl dwnwynipyniulitp ubipwnyuwy Ul it 80000 1 80.0
Unbinwdnul b hwdwuwpwlynnug
50111180 Uywnndbpbwutiph Ywgdwlu dwinwinip)niuubip Uu npwyd 100000 1 100,0
50851100 Ywhnyph Ybpwunpnguwl dwnwjnipjniuttip uu hwun 980000 1 980,0
45511100 Uyunnupinwpuwljh Swnwjnipyniy uu hwun 100000 1 100,0
50751100 Ybipbijwlutinh unpnquw Swnwjnip)niu uu hwn 310000 1 310,0
50751100 dbipbjwlubph thnpbwpbumpjum.uu;wuwnanl wuduwlwaqdh Uu i 290000 1 290.0
Ybpwuwwinpwunnw
50311240 Muwunbliiwhwtng uwppliph Ytpwunpnguwy Swnuwynipyniilibin uu hwn 990000 1 990,0
72212300 “wiplinh wnnhwlwbugiwl Swnuwynipn uu hwin 884000 1 884,0
72411110 ARt RN RNE T Uu | hun 904000 1 904,0
__Swnwinpinils
79521100 Nuwbblwhwbiwl dwnwyny il uu hwwn 750000 1 750,0
50531150 SQwquiht uwppliph Wwhwwtidwy Swnwinip)niu uu hwwn 300000 1 300,0
90921300 Unubunubiph nbu wwipwph dwnuwynipyniuubip uu hwn 480000 1 480,0
79341100 Snywqruht Swnwynipyni uu hwun 700000 1 700,0
66511180 Cwndhgubipnyg thnfuwnpwihengUtiph wwwhnywgpdwl It Ul AR 96500 1 9.5
wnbluqUudwb Swnwinueiniu
92421100 (etippbipnud hwynwpwpnipinitibiph nywgndwl uu nnwd 956000 1 956.0
__Odwnwinipin
50341500 Uuunwugnipul wnbuwfughlutiph uywuwnlnus / UOU-SOS uu npwd 180000 1 180,0
64111200 Pnunwyh Swnwinipjniutibp’ Yuugws wdwlubph htn uu npwyd 150000 1 150,0
79951100 Uhgngwnnuwutiph htin | Ywsd dwnwinipniulibin uu npwd 994000 1 994,0
50311300 <ulihs - npuuntnushl UBpbULLEh bRl Uu | ppwd 220000 1 20,0
uwwuwnynud
66131100 Undtipnptinh htinn Yuuywd Uhgunpnnipew Swnwjnipyniu uu npwu 72000 1 72,0
programming services of systems and user software
72211100 /hwdwlwngbiph b oquwgnpdnnh dpwgptiph pwliuwb uu npwd 3390000 1 3390,0
Programming services of systems and user soffWare
/hwdwlwngliph L oquwgnndnnh dpwgnbiph dywldwl
u 0] 11500000 1 11500,0
7aiog E)mmujnqajmbhhn/h“'1 nnuwhu wujwhwlwt L fnw
h d
75241100 Nuinhutinipjwl dwnuynipjnitiutiph / RUPWUjnIRbRh Uu ARG 600000 | 600,0
wibiion|w wwhwwlnuyeiniu
75241200 Nuwnhywbnie)wl dwnuwyny Iniulibip uu npwd 996000 1 996,0
85141240 PIzulius ipnuianRGLERh Gnndhg dusmmigd UU | pwd | 900000 | 900,0
Swnwinipinil
7163110 Uwppliph unnigduwl dwnwynipyniulitin / uwpp. wnbfu. uu Housd 850000 1 850,0
unnignud, nngquswihnug L swihwagnnug
Pdalwlwl hhduwnGubph Gnndhg dwwnigynn Swnuwynipynit/
141240 1 137,
85141 Uhopmidhhibuwnluwhbs Swnwinipind, uu npwd 25137000 25137,0
50111130 Uyunndtipbwbbiph Ybpwlnpnguwl Swnwinipyniulibp uu hwn 100000 1 100,0




63721180 Cusdulyuy opuUEnR U RquiT W gughns UU | hun 6000 10 60,0
Swnwinipiniy
44423300 Plinbwiinfuwnpnu uu npwy 100000 1 100,0
50531110 Qbnnigdwl Ywpuwh Ybipwunpngnui uu npwd 160000 1 160,0
45251167 (FpYwdlh Yuywuh Ybpwunpnguw & iRt uu npwd 520000 1 520,0
63521200 Plinubiph thnpuwnpdwl Swnwynipini uu npwd 800000 1 800,0
48981700 | Swhsh dnugpuihu ’ab"u""?":i“h:': 6‘”’"“‘9""‘" AU YT . 50000 ! 50,0
71311180 waqubwhw[uwhwzx{wjhh hwunwpnptiph Yuqund uu npwy 560000 1 560,0
64235180 Stnnwinwhwnnpnnuubph htinwpdwliwy Swnwinueyniu uu hwn 980000 1 980,0
71251100 Quithwgpnipynit, gdwgntiph Ywqunu uu npwd 120000 1 120,0
Clinwdbp 2212445




